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‘)E,wf’ﬁdessrs__ﬁ_ighnre and Company commenced the work on a particular contract on 1®

COST ACCOUNTING

Q.1

\ /= Contract Account are in tne_rg.}tiiq pF? : % 1 Trgﬁltggtﬂggcénfﬂ
- P — T ~erified” ee's a b - -
, contract has been certified by the contrac _ . =d N cash._The

L

e

on the basis of percentage of

iati fit
Prepare Contract No.121 A/c for 2008-2009 appropriating pro tage of cash received to work

work certified to total value of contract as reduced by the percen
certified. The contract price is 3 20,00,000.

(Ans. Notional Profit is T1,42,333 out of which< 4
s stands debited with the cost of materials issued,

t the End. Pil@ar- E _ggplrggl_ACCDuqt e Ry ItEd 1 matém
labour and overheads expended and plant issued, and_It gﬁnrgﬁ_wé;i&\’ﬂiﬂn_“ o 20% Ths

ite ¥ 2,000 and plant at site re-valued atX 8.0 ds debited to th
s Is. labour and overheads ae 10 the
net cost of contract is ¥ 30,000. The materials, 1a rice is T 50,000. 4/5 of the

Jeted, a month before the

5,547 is taken to P&L Alc)

end of the year and 80% of the certified work value has been receiv ash.

E SR

accountant informs that= of the profit on cash basis credited to profit and loss account on

o —

the contract is X 8,000. Prepare the Contract Account for the current year ZUUUTU 1_shuwipg
the cost of work done but uncertified, and the Work-in-progress from the above information.

Prepare the Contract Account for the current year.

— R

(Ans. Notional profit is T 15,000 and ¥ 8,000 is taken to P&L Alc).

:M/s Manholes and Sewers Ltd. Undertook for erecting a sewerage treatment plant for a

municipality for a total value of ¥ 24 lakhs. You are required to prepare a contract account for.
the year ending 31 -

* March 2008, from the following particulars:

(i) Wages ¥ 6,00,000. (ii) Special plant ¥ 2,00,000. (iii) Materials T 3,00,000. (iv) Overheads
£.1.20.000. (v) Depreciation @ X 10% to be provided on plant. (vi) Materials lying at site on
ﬂgg_ﬂ_ﬂ_ﬁ_i;@p.ﬁ_ﬂ_’ﬂ"(uii} Work certified was to the extent of ¥ 16,00,000 and 80% of the same-
was received in cash. (viii) 5 per cent of the value of materials issued and 6 per cent of wages

and overheads of 20% of wages may be taken to have been incurr ion of -
_ wages ed for the portion of -
work” completed but Tiof yet_ certified. (ix) Ignore depreciation on plant for use on uﬂcer{iﬁéd

portion of the work. (x) Ascertain the amount to b i
basis of realised profit k] e e transferred to profit and loss account on the

(Ans. Cost of work uncertified = 7 98,200; Notional Profit ¥ 6,58,200)

They close their books of accounts for th | y
| se | e year on
Information is available from their costing recu};da on 3? ’J D

April 2009.
December each year. The following
ecember, 2009:

Material sent to site 50,000; Foreman's salary X 12,000; Wages paid Z 1,00 000
A m . - * o : ' L] i .
Ea“é%rrfaf:;t;}g; sare anomained in use on site for 73 days during the year. Its working |
Sy years and scrap value at ¥ 2,000, A supervisor | ' Sos oreng lite
had devoted one-half of his time o the contract 'S Paid 2,000 per month

Account.

(Ans. Cost of work uncertified = Y 44,550; Notional Profit=¥ g¢ 350)

o -'\‘ﬂf-&—-—.-._. T :m—_-__-_.*_.'_ e ————
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Q.17. M/s. Everfine Constructions commenced a contract for the construction of a Bunglow on 1*

;Lﬂg' {JZE?ggIDOrigi_rlg_IE l_hf-'-._ ‘contract price was ¥ 50,00,000 but finally the same was fixed at

T'_‘E"' :r_a_t::tual_ expenditure during the year 2000 and estimated expenditure during 2001, till
the completion of the contract is as under:- ' -

Actual Estimated
Particulars Expenditure upto Expenditure during
__ 31-12-2000 2001
Building Materials - - 8,00,000 13,00,000
Labour Charges *»6,00,000 6,00,000
Plant installed at site (at cost) > 4,00,000 =
Materials at site on 31-12-2000 . . 50,000 -
General Expenses —— —— . 2,50,000 3,565,000
Plant returned to stores at cost at the »1,00,000 0
end of the year >
Works certified , 20,00,000 -
Works uncertified = 75,000 contract completed
Cash Received © 90% of the work 45,00,000
certified

The contract is expected to be completed by 30" September, 2001.
The p_lE_lﬂt IS subject to depreciation at 20% p.a. on the original cost.

In order to calculate the correct account of profit made on the contract for the year 2000, it
was decided to take certain proportion of the estimated profit on completion of the contract
to the credit of Profit and Loss Account; such proportion being cash received to the total
contract price.

Prepare the Contract Account for the year ending 31* December, 2000 and work out the
estimated profit on the completion of the contract by 30" September, 2001. —

(Ans. Notional Profit is ¥ 4,35,000 and ¥ 2,04,000 is taken to P/L Alc)

-

‘*V/é’,’iﬂ. The following Trial Balance was extracted on 31" December, 2001 from the books of
Swastick Co. Ltd. Contractors:

(9
Particulars Dr. Cr.
Share capital (shares of ¥ 10 each) 3.50,000
Profit and Loss A/c on 1-1-2001 25,000
Provision for depreciation of machinery 63,000
Cash received on account of Contract No.10 . 12.80,000
Creditors : , 82,000
Land and Buildings (Cost)- 70,000
Machinery (Cost) - ' 52,000
Bank - 48,000
Contract No, 10:
Materials 6,10,000
Direct Labour 8,40,000
Expenses 20,000
Machinery on Site (Cost) 1,60,000

18,00,000 | 18,00,000
Contract No. 10 was begun on 1* January 2001. The contract price is ¥ 24,00,000 and the
contractee has, so far, paid ¥ 12,80,000 being 80% of work certified. The cost of work done
sihce certification is estimated at ¥ 20,000. On 31 December, 2001, after the above Trial
Balance was extracted, machinery costing ¥ 32,000 was returned to stores and materials
then on site were valued at Y 23,000.
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JWr Behram Contractor has undertaken two contracts one at Mubai and another at Thane.
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ali Il machine
. 000 and for depreciation on a ry
- for direct labour due ¥ 6, d (b) Balance Shee
2{012222 ;tt?ut: r":"-I:: l;n:l required to prepare (a) Contracl account, and (5) t

of the company as on 31-12-2001. i af
(Ans. Nutlﬂnul Profit is T 1,47,000 and ¥ 78,400 is taken to P ) -
ontract during the year 2001. The contract price was

G19,XYZ Lid. wes engagen o8 o cted from the books on 31-12-2001 stood as follows:

? 2,00,000. The trial balance extrac 4
Dr. Cr. |
Particulars 40,000
Share capital 4,000
Sundry creditors 17,000
Building 4,500
Cash at Bank
Contract a/c : 37.500
Materials 10,000
=)
Cash received from contractor (80% of work certified) 2 500 80,000
Expenses 124,000 | 1.24.000

Of the plant and materials charged to the contract, plant costing < 1.50!} and materials
costing ¥ 1,200 were destroyed by an accident. On 31-12-2001 plant custmg_!‘ 2,000 was
returned to stores and material at site was valued at ¥ 1,500. Cost of uncertified work was
¥ 1,000. Charge 10% as depreciation on plant. Prepare contract account for the year 2001
and Balance Sheet as on 31-12-2001.

{Ans. Notional Profit is ¥ 10,350 and ¥ 5,520 is taken to P/L Alc)

The details of the contracts are given below for the year ended 31 March. 2001

T

(9
Particulars Contract at Mumbai Contract at Thane
Date of Commencement 1% July, 2000 1% Oct., 2000
Contract Price - | 10,00,000 15,00,000
Direct Labour — 2,55,000 1,82,000
Material issued from stores 2,20,000 2,00,000
Material returned 10,000 15,000
Plant installed at site 2,00,000 3,50,000
Direct Expenses 40,000 IS{JIUDU
Overh_eads - 15,000 1DIUDD
Material sold (cost ¥ 8,000) 10.000 |
Material at Site 13‘000 0
Cash received from confractee | 5
(representing 80% of work certifi
Work uncertified » 30,000 192,000
Architects Fees 14,040 9,000
7,000 3.000

(1) Provide depreciation on plant at 20% p.a

(ii) During the year materials costing ¥ 10
Mumbai contract.
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a;z1r ‘i“ H‘t‘ CUI l b Lo [ - -
) Wwractor oblamned a contract 1o bulkd a house at 3 contract prce of 7 1500 0

:l::':'ll::l?:‘:::::f::"; E:g:mﬁ o pay 90% of the value of the work 00n€ 35 cenfed Ty TR
hitec schiately on receipt of i - c
the Contract. 4 ot of the certficate and 1o pay the LaBNCE after compketon of

The contraclofr Commenc
v - y enced the work on 1% May, 1999 A Plant costng 2 70 000 was
specially bought for the contra ! promsiy o

_ o et The value of the plant at the end of 1959 2000 ana 2001
e 2 16.000, 2 10,000 and 2 4000 respectvely. The worv 00ne ang certfed Dy e
ﬂ.hﬂuut as al jhE erd of 1999 and 2000 was 2 3,50 500 and 2 11.50.000 respectvely

ork costing 2 20,000 done as at the end of 2000 was not cenfied as on 13t date

Other details of the contract were as under

4
Particulars N \ 1999 2000 | 2001
Material sent to the site ' 1,80.000 | 2.20.00C 1.28 000 |
Wages paid ] 1 70.000 | 2,30,000 | 1.7C 000
Direct Expenses incurred 7000 | 25000 9.000
Indirect Expenses incurred 3000 4000 =2

You are required to prepare contract account for the year ended 31" December, 1999,
2000 and 2001, considering that contract 1 fully completed in 2001. |

(Ans. Amount taken to P/L Alc T 2,01,000is 2.000 and 1,53,000 in 2001. There is
loss of T 14,000 in 1999).

Q.22. The following information relate to a road contract for Z 10,00,000.

e

(4
- | 2000 2001
'ﬁﬁtéﬁaiﬁ Issued 3,00,000 84,000
Direct Wages 2,30,000 1,05,000
Direct Expenses 22 000 10.000
Indirect Expenses 6.000 1.400
Work Certified 7 50,000 | 10,00,000
Work not Certified 85?]300 i m};
Materials at site : .
Planl purchased . ;.; .[[J]{;g " uzntégg
Cash received from Contractee .00, 00,

The value of Plant at the end of 2000 and 2001 were 3 7,000 and ¥ 5,000 respectively.

' ' for the years 2000 and 2001 taking
e Contract Alc and (i) the Contractee A/C *
:::leup;c:ﬁ's[ig;?atinn such profit for transfer 10 profit & Loss A/c as you think proper.

(ANS Amount taken to piL Alc R 1,05,600 In 2000 and X 1,32,000 in 2001).

Q.23. A firm of building contractors pegan 10 trade on 1-4-2000. The following was the
o expenditure ON \he contract for z 30,00,000. -

5,10,000
Materials issued 10 contract 150,000

plant issued for the contract 8,10,000

\Wages issued 50,000

Other Expenses__ .
c = to 31-3-2001 amounted 10 7 12,80,000 being 80% of the work
gedto contract, plant which cost 30,000 and

| t
Cash received on agcuun
certified Of the materials and plant char
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i * lost

materials which cost ¥ 25,000 were s
returned to stores. The cngt of work done uncertified

< 23.000 were in hand on site.

Charge 15% depreciation on
particulars in the Balance Sheet. No de

i L Alc
(Ans. Notional Profit is T 2,70,000 and ¥ 1,44,000 is taken to P/ )

- lant which cost ¥ ZQ.DUU were
o p? 10,000 and materials cosling

Plant. Prepare the Contract Account and show the relevant
No preciation is to be charged on lost plant.

ABC Ltd. began to trade on 1% Jz wary, 2006. During 2006 the c;:r{'nhpan];rah:taz fdngrsgteecrii ;2
only one contract of which the contract price was < SIUD'DinIOwhizhpcﬂst € H000 e
charged to the contract, plant which cost ¥ 5,000 and materials

lost in an accident. On 31* December, 2006 plant with original cngt of TdSIEnUaieh:Z?srit;; :Et‘gl
to the store, the cost of work done but uncertified was ¥ 2,000 an

< 4,000 were in hand on site. Charge 10% depreciation on plant. Prepare Contract Account
and the Balance Sheet from the following:
Trial Balance as on 31°' December, 2006

Q.24.

4 4

Share capital 1,20,000
Creditors 10,000
Cash received (80% of work certified) 2,00,000
Land and Building 43,000
Bank Balance 25,000
Charged to contract:
Materials 90,000
Plant 25 000
Wages 1,40,000
Expenses 7.000

3,330,000 3.30,000

(Ans. Notional Profit is 7 21,000 and T 11,200 is taken to P&L AJc)

Q.25. The fnllqwing details are available from the books of accounts of a contractor with respect
to a particular construction work for the year ended 31* March, 2009 -

; L4
Contract price
Cash received from Contractee (90% of work certified) 12?3?330
Material sent to site 91,900
Planning cost 35,82,600
Direct wages paid 3,50,000
Cost of plant installed at site 32,62,700
Direct expenses paid 7,00,000
Establishment expenses 168,000
Material returned to store 2,03,000
Head office expenses apportioned 14,840
Cost of work uncertified 2,50,000
On 31" March, 2009 3,17,000
Material at site
Accrued direct wages_ ?g?gg
Accrued direct expenses 9,310
Value of plant (as revalued) 6,16.000

Ans.: Notional Profit ¥4,1 9,510.

——
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Q.26. I;BDS"IQ | ;?:zfulluwing information, prepare the Contract Account for the year ended
éﬂﬁtFEEl PI'-iCE — = I{ 50 lakhs
Work certified 220 lakhs (cash received 90% of value certified)
Materials at site on 30:09:2012 .~ —Z 30,000
Depreciation on Plant and Machinery. 5% 75,000
During the year the following expenses were incurred in respect of the above contract :
Material sent to site R -~ ¥14,00,000
Wages 2 ¥ 255000
Site expenses T 50000
Power and Fuel 2% 1,25,000
Office Expenses ¥ 12,000
Rate and Taxes I 15,000
Ans. Notional Profit €1,43,000.
Q.27. A construction company undertook a contract at an estimated price of ¥ 108 lakhs which
includes a budgeted profit of ¥ 18 lakhs. The relevant data for the year ended 31:03:2002
are as under : 7000'S)
Materials issued to site gggg
Direct wages o
Plant hired 20
Site office costs o0
Materials returned from site £00
Direct expenses 10.000
Work certified | 200
Progress payments received :
: ' ' f ¥ 8,00,000 and after use on
ecial plant was purchased specifically for this contract o 00, |
&isspcuntrapct till the end of 31:03:2002, it was valued at X 5,00,000. The cost of materials
at site at the end of the year was estimated at ¥ 18,00,000. Direct wages accrued as on
31:03L2002 was T 1,10,000.
’Ereéi;::ﬂt;e Contract Account for the year ended 31* March, 2002 and compute the profit
to be taken to the profit and loss account.
Ans. Notional Profit ¥12,20,000.
i i he construction of a building at a contract price
Q2. el Cnnmrucgu?nﬁlgtnheedfﬁ‘sig;;gmﬂiir :nl?uwing amounts were spent, against which T
E;T[ t253 ?](:El?::r.\ichuisl egq ual to 90% of the work certified) was received by the contractor :
1, 000
Material used % grﬁg:wﬂ
Wages paid ' 0
Overhead expenses | 75,00 |
The following €xpenses were incurred during tge?sggcg’é% year .
material E:DD:UDD
ages 1,50,000
Overheads ’ % 18.75.000
During the second year the contract was completed. In the second year, 9,
urin :
was received by the contractor.
Prepare the contract account and the contractee's account for both the years and
repa . _
A ie,:,egﬂrﬁrt:ssiﬁfﬁ to Profit & Loss Account ¥1,05,000 in year 1 and ¥4,95,000 in
ns.

year 2.
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COST ACCOUNTING 4.25 I
Solutions to Revisionary ProblemsS
Answer to Q. No. 1: Mﬂﬂ B
Particulars Amount | Particulars ) __E'_“E._._‘"'t—
| To Material Purchased 58 063 | By Materials al site c/d 9,858
To Material Form store 9785 | By Plant at site c/d 18,870
To Plant Issued 20.000 | By WIP (Value of work certified) 1,51,000
To Wages 73,634 1,20,800
To Direct Exp. 2,026 = * 1
To Establishment EXp. 8,720
To Notional Profit c/d 7,500
179,728 79,728
To PIL 4.000 | By Notional Profit b/d 7,500
To WIP (Reserve) 3,500 B
7,500 2,500
Working Note:
Note 1: Percentage of completion of contract
_ Value of work certified
= : x 100
Total contract price
1,51,00
= 51,000 x100 =50.33%
3,00,000
Note 2 : Amount to be transferred 10 profi/Loss A/C is-
2 _ ~ Cashreceived
Z x Notional profitx
3 Work Certified
2 30
— x 7500 x =3 4000
3 100
Answerto Q. No. 2 : Contract AIC
Particulars Contract 1 | Contract 2 Particulars Contract1 | Contract
To Expenditure By Material at site 4000 4000
Materials 72000 58000 c/d
Wages 110000 112000 | By Plant at site c/d 18000 15200
By WIP
General Charges 4000 2800 | Work Certified 2,00,000 160000
To Plant installed 20000 16000 | Work uncertified 6000 8000
To Wages accrued 4000 4000 | By P/L A/C (Loss) Nil 5600
To Notional Profit ¢/d 18000 _Nil
288000 192800 228000 192800
To P/L A/c (2/3 x18000 By Notional profit 18000 NIL
x150000/20000) 9000 NIL | b/d
To WIP (Reserve) 9000 NIL
18000 NIL 18000 NIL




4.26

CAR. K HEHr,ﬂ

| COST ACCOUNTING

Note : Contract 1 has commenced on 1?' January, Zﬂﬂf-:
such, depreciation @ 10% has been provided on Contrac

® July, 2009. As
d Contract 2 on 1 July,
‘? f;«:rr 12 months and on Contract 2 for

6 months.
Answer to Q. No. 3 : Contract A/C re—r Amount
. unt | Particu —
! Particulars A%BDDD By Plant at site c/d 19,000
| To Material 000 By Material at site c/d 4,000
To wages Paid 1 12'9[}0 By Material transfer to other 4,000
To General Charges ' contracts
| 20,000 | By WIP
I‘E E;nte EEE!EG on 1/7/2008 4000 | Work Ce mﬁ?# 2,Ug,ggg
To Matgerial Received Work uncertified |
from other contracts 1;333
To Notional Profit c/d 12, UJY
3.33,000 | 3'%’-%'1‘1
To P/L A/C 9,500 | By Notional profit b/d 9,000
To WIP (Reserve) 9,500
19000 19,000
Amount Transferred to P/L A/C is calculated as follows-
2/3 x 19000 x ;*zgggg (Because 50% work is certified to date)
= ¥ 9,500
Answer to Q. No. 4 : Contract A/C
Particulars Amount | Particulars Amount
2008 2008
To Material 1,80,000 | By WIP
To Wages 170,000 | Work Certified 3,75,000
To Carriage 6.000
To Cartage 1,000 | Work uncertif |
To Sundry Exp. 3.000 certiiied NI
To Notional Profit c/d 15,000
3,75,000
2 T _ 3,75,000
e R 4,000 | By Notional Profit brd ~15.000
To WIP (Reserve) 11,000
15,000
2009 2009 _M
To WIP (Opening Bal, oy Reserve (Wip) 11,000
Work certified 375 y WIP
/9,000 E::.CEl‘tlﬁEd 11,25,000
- . Uncerti |
To Material 2,20,000 ftified 20,000 11.45000
Wages 2,30,000
| Carriage 'nn
23,000
Cartage 2000
Sundry Exp. 4.000
To Notional Profit ¢/g '
3.02.000
(2/3 x 302000 x 80/100) .81 087 By Notional Profit b/g %M
To WIP(Reserve) 140,933 200
3.02,000
2.02,000
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2010 | 2010
To WIP (Opening Bal_ By Reserve (WIP) 1,40,933
' - 50 By Contractee Alc. 15,00,000
W. Uncertified 20,000 11.45 000 Y raclee
To Matenals 1.26.000
Wages 1,70,000
Cartage 5.000
Sundry Exp. 3.000
To P&L AJC - 1.9.[1933
16,40,933 [ 16,40,933 |
Answer to Q. No. 5 : Contract Account
From 1-4-2007 to 31-3-2008
Particulars Amount | Particulars Amount
To Wages 1.40,000 | By Bank (Material sold) 11,500
To Plant 35,000 | By Bank (Plant Sold) 1,7000
To Materials 1,05,000 | By Plant at site c/d 8,000
By Materials at Site c/d 3,000
To H.O. Exp. 12.500 | By cost of contract to date c/d 2,69,800
To P&L A/C(Profit on 1,500
materials sold)
2,94,000 2,94.000
To cost of contract to date b/d 2.69,800 | By WIP
To Notional profit c/d 55,200 | W. Certified 3,00,000
W. Uncertified 25,000
3,25,000 3,25.000
To P&L A/IC 36,120 | By Notional
To WIP (Reserve) 19,080 | Profit b/d 55,200
55,200 55,200 |
According to the question the amount to be transferred to P&L is calculated as follows: -
ted Profit Work Certified
' rofit x ,
e " " Contract Price
3,00,000
= 60,200 x —
5,00,000
=T 36,120 .
Computation of estimated profit. 0
Cost of contract to date 269,80
(+) Estimated additional cost
1. Materials used (3000+50.000) ﬁggg
2 Plant used (8,000+1 5.000-6,000) 34-?50
3. Wages 5‘250
4. H.O. Expenses (12,500 * 6/12) 'DDO
5. Contingencies — 9.0
4 39,800

Total estimated cost
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Contract Price =¥ 5,00,000 00
Estimated Profit = 5,00,000 - 4,39.8
= 60,200
: Contract Account
I For the year ended on 31-03-2009
. < ‘000"
% ‘000’ | Particulars i
?:rﬂ;?;zs 7,500 | By Materials returned sgg
To Wages 4,000 By Mater_rals at site c/d
(+) Accrued, 270 4,270 | By work In progress 20,08
To contract related cost 500 | (a) Work certified 000
To Direct Expenses 802 | (b) W. Uncertified 149
To Plant hire charges 1,750
To Planning & Estimating 1,000
To site office cost 678
To H.O. Expenses 375
To Dep. On Plant 300
To Notional Profit ¢/d 3,324
20,599 20,599
ToP &L Alc 1,662 | By Notional Profit b/d 3,324
To WIP (Reserve) 1,662
3,324 3,324

Since the completed work on the contract Is more than 50 %, the amount to be transferred to P&L

is computed as follows:

=2/3 % Notional Profit x Cash RECELWEd
Work Certified

= 2/3% 3,324 thousands x >:000 thousand
20,000 thousand

= 1,662 thousands.

Balance Sheet Extracts
As on 31-03-2009

Liabilities < Assets
Wages Outstanding

270 | Plant at site (2,000-300
Profit and Loss A/C 1,662 | Materials at stores J

Materials at sjte
Work-in-Progress

W. Certified 20,000
W. Uncertified 149
(~) Adv. Recq, (15,000)
(~) Reserve ( 1.662)

1,700
250
200

3,487
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Answer to Q. No. 7 : CA R. K. MEHTA |
Multist
Sarticulars ory Building Construction Account for the year ending on 30" June
Materials % Particulars T
Plant 1,80,000 | Plant at site at the end 27.000
Wages \, ig,gnu Materials in hand at the end 7.500
Direct expenses o ggg Cost of contract to date c/d 4,42 600
Misc. expenses .BUU
General overheads 7 000
4.77,100
ﬁn;t nfic;on;ract to date b/d 242,600 | Work in progress: 477,100
otional Profit ¢/d 22,400 | Work certified 4 50,000
Work Uncertified 15,000
4.65,000 4,65,000
P &L AC. 11,946 | Noti
(213 X 22 400 x 80/100) \ otional Profit b/d 22,400
WIP (Reserve) 10 454
22,400 22,400

Note — Since half of the contract has been completed 2/3 of profi

be credited to P/L Alc.

Balance sheet as on June 30

t as reduced on Cash basis may

Liah_ilities T [ Assets 3
Profit & Loss A/C 11,946 | Plant at site 27 000
Material at site 7.500
Work- in- Progress
Work Certified 4,50,000
Work Uncertified 15,000
(-)Reserve (10,454)
(-) Adv. Recd. _ (3,60.000) 94 456
Answer to Q. No. 8 :
Contract Accounts for the year ending on 31-03-2010
Particulars A B c | Particulars A B Cc
Material 14,400 | 11,600 4 000 | Value of work 40.000 | 32,000 7.200
Certified
Wages paid 22 000 | 22,400 2 800 | Cost of work 1,200 1,600 420
uncertified .
' 800 800 40
d 800 800 160 | Material on hand
2:?:;;“”“ 800 560 200 | Plant at site 3,600 3,040 | 2,340
Charges ' 120
[ 3,200 2 400 | Loss trans. To ,
Plant issued 4,000 SaL AIC
Notional profit 3,600 - 600
o 45.600 | 38,560 10,360
5 8,560 10,360 49,00V
45600 2 = . | Notional Profit b/d 3,600 — 600
Profit credited 1,800 --
to P&L A/C
Reserve on 1,800 ~ 600 _
P 3 600 — - 600 3600 =1 =
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Cash Received
1. Profit of contract A credited of P&L A/C=Notional F fit 3 * Work Certified
2 30000 _ 1.800 |

- 3.600 x '3_"‘40‘000

2. Incase of contract B, there is loss. It is fully debited to P&L A/C

3. In case of contract C, the value of work certified Is Iess than 25";_6 of thte cngtract Price,
Therefore no profit is credited to P&L A/c. Entire notional profit is kept as Reserve on

WIP.
Balance Sheet (Extracts only) as on 31-3-2010 —
Liabilities 4 Assets . ?—__..,
Outstanding Wages: Material at site
Contract A 800 At contract A 800
Contract B 800 At Contract B 800
Contract C 360 | 1.960 | AtcontractC 400 | 2,000
Plant at site
P&L A/c : At Contract A 3,600
Profit from contract A 1,800 At Contract B 3,040
Less loss on Contract B | (1,120) 680 | At Contract C 2,340 | 8,980
WIP at contract A:
Work Certified 40,000
Work uncertified 12,000
Less: Reserve on WIP 1,800
Less : Advance 30,000 | 20.200
WIP at contract B:
Work certified 32.000
Work uncertified 1,600
Less: Contractee advance | 24,000 | 9.600
WIP at Contract C:
Work certified 7,200
Work uncertified 420
Less: Reserve on WIP 600
Less: Contractee advance 5400 | 1,620

nswer to Q. No. 9 :
Contract Account for the ' year ended on 31-12-2009

4
' <
?n Eaterlals 90,000 | By P & L Alc (Materials lost) 4,000
Tn : ages 140,000 | By Materials at site c/d 4,000
0 Expenses 7,000 | By Work-in-Progress |
To Dep. On Plant 2,000 )
W. Certified (z.oo.noo y 1””) SEhees
| 80
To Notional Profit c/d 21,000 | w. Uncertified 2,000
2.60,000
, . £ 9V, U 2,60,000
ToP & L Alc (—EZ'I,DUQ::———— 11.200 .
3 100 : By Notional Profit b/g 21,000
To WIP (Rese |
( rve) 9,800
21,000
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Plant Account
: < A
To opening balance 25,000 | By P & L A/c (Plant lost) 5,000
By Depreciation (10% of 20,000) 2,000
By Plant returned (5,000 less 10% Dep.) 4,500
By Closing balance (15,000 less 10% 13,500
Dep.)
25.000 25.000

Note:

1. Itis assumed that the plant of ¥ 5,000 was lost at the beginning of the year

2. Sincelrurk certified is equal to half of contract price, profit has been ascertained on the basis
of 2/3" and cash basis.

Balance Sheet as on 31°' December 2009

Partlr:ular_s T Particulars 3 3
Share capital 1,20,000 | Land and building 43,000
Profit on Contract 11,200 Plant at stores 4,500
'Less Abnormal loss 9.000 2,200 | Plant at site | 13,500 | 18,000
Creditors 10,000 | Materials at site 4,000
Work in progress:
Certified 2,50,000
Uncertified 2,000
2.52,000
Less: Contractee advance -
2.00.000
52,000
Less: Reserve on WIP -9.800 | 42,200
Bank 25,000
132,200 1,.32,200
Answer to Q. No. 10 : Contract Alc
From 1-4-2008 to 31-3-2009
To Materials issued 3,00,000 | By Plant returned (50,000-12,500) 37,500
To Labour 2,00,000 By Plant at site c/d
(+) outstanding 20,000 | 2,20,000 (1,00,000-25,000) 75,000
To Plant Purchased 1,50,000 | By Materials at site c/d 20,000
To Expenses 75,000 By Cost of contract to date c/d 9,97,500
(=) Prepaid 15,000 60,000
' 7.30,000 7.30,000
To Cost of Contract to date b/d | 5,97,500 | By WIP 3
To Notional Profit c/d 2,27,500 - Work certified 8,00,000
- Work Uncertified 25,000
8,25,000 8,25,000
ToP &L Alc 63,321 | By Notional Profit b/d 2,27,500
161,178
To WIP (Reserve) 57500 237500
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Amount transferred to P & L Alc —

Work Certified Cash Received

Contract Price " Work Certified

8.0C,000 6,000,000

17,50,000  8,00,000

Estimated Profit = Contract Price — Total estimated cost
= 17,50,000-15,56,563 =¥ 1,93,437

Total Estimated Cost

Estimated Profit x

= 1,83,437 x

<
Cost of contract to date 5,97,500
(+) Estimated additional Cost
(1) Materials (20,000 + 5,50,000 — 50,000) 5,20,000
(2) Labour [ (2,50,000-20,000) + 30,000] 2,60,000
(3) Expenses (1,50,000 + 15,000) 1,65,000
(4) Depreciation [ 75,000 x 2> x| 14,063
100 12
15.56.563

Answer to Q. No. 11 : Alcon Construction Co. Ltd. Contract Account for the year ending
31-12-2009

Z <
Materials 40,000 | Work in progress :
Direct labour 55,000 Work certified (1,20,000 x100/80) 1,50,000
Wages outstanding 200 Work uncertified 1,000
Machinery 75% of ¥ 40,000 30,000 | Materials at site c/d 5,000
Expenses at site 2,000 | Machinery returned :
Profit credited to P & L A/c 29,760 | Cost X< 2,000
(5%8.,800.x 2/3 x 80/100) Less . Depreciation _ 200 1,800
Reserve on Work in progress 26,040 | Machinery at site 28,000
(55,800-29,760) Less : Depreciation -2,800 25,200
) 1,83.000 1,83.000
Profit and Loss Account for the year ending 31 Dec.2009
L4 L4
Postage & Telegrams 500 | Contract A/c (Profit) 29,760
Office expenses 2,000 |
Rates and Taxes 3,000
*Expenses 2,500
Depreciation (10,000 x 10/100) 1,000
Net Profit 20,760
29 760 29 ?EQ
Balance Sheet as at 31-12-2009
Share Capital ¥ 1,00,000 | Fixed Assets : 7
Land and Buildings
Profit & Loss A/c 20,760 | Machinery (total) 40.000 000
Less ; Depreciation (total '
Wages outstanding 200 | Lorries and Vehicles ) <4000 SO008
Furni 30,000
urniture

1,000

Office equipment 10,000
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Current Assets :
Materials at site 5,000
Work-in-progress A/c:
Work certified 1,50,000
Work uncertified 1,000
1,51,000
Less : Reserve on WIP 26,040
1,24,960
Less : Contractee Advance 1,20.000 4,960
Bank _4,000
1,20,960 1,20,960
Answer to Q. No. 12 : Contract 1 Account
Particulars _ | Particulars T
To Materials 39,400 | By Plant at site c/d 9,000
To Wages 63,250 By Materials at site c/d 2,000
Add : Payable 1,725 64,975 | By WIP
To Gen. Exp. 2,000 (a) W. Certified 1,20,000
Add : Payable 300 2 300 | (B) W. Uncertified 3,000 | 1,23,000
To Plant installed 10,000 | By Contractee’'s A/C 3,325
To Notional Profit c/d 20.660 | (Escalation claim)
137,333 137,335
ToP &L AC 10.330 | By Notional Profit b/d 20,660
2
(—5 x 20,660 x 75%)
To WIP (Reserve) 10,330 e
20,660 20,660
Note — Computation of Escalation claim
Types of Actual .
Cost Cost Total UEtﬂ 2.5"{# BE!QHd 2.5%
= 10
Material (39,400-2,000) 37,400 37400% === 3400 850 2,550
 abouf 64,975 64,975 x%% _g475 14125  7.0625
Hence, the amount of escalation claim
=20% of ¥ 2,550 + 40% of T 7,062.5
= 325
X392 Contract 2 Account
[ 4
Particulars F| Particulars |
. 29 000 | By Plant at site c/d 7,600
To Materials ‘ _ .
56,200 By Materials at site c/d 2,000
To Wages ' o | By wWIP
(+) Payable 1,800 58,00 y :
To G Ex 1 400 {H} W. EEﬂlﬁEd BU.UDU
0 Gen. =XP. 200 1600 | (b) W. Uncertified 4,000 84,000
(+) Payable = ' 3,000
_ 8000 | ByP &L Alc (Loss)
To Plant installed = 96,000
96,600
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Contract 3 Amount ~
.Particulars ¥| Particulars T
To Materials 10.000 | By Plant at site c/d 5.850
To Wages 7,000 By Material at site c/a 1.000
(+) Payable 800 7,800 | By WIP
To Gen. Exp. 500 (a) W. Certified 18,000
(+) Payable 100 600 | (b) W. UﬂEEI’tiﬁE_d 1.050 19,050
To Plant installed 6,000
To Notional Profit c/d 1,500 —
25,900 25,900
ToP &L Alc NIL | By Notional profit b/d 1,500
(Less than 25% complete)
To WIP (Reserve) 1,500 —
: 1,500 1,500 |
Answer to Q. No. 13 : Contract No.121 Account
From 1-4-2008 to 31-3-2009
T <
To Materials sent 4,00,000 | By Machine returned
To Labour 5,00,000 Original cost 2,60,000
To Machine Sent 5,20,000 | (-) Depreciation
To General Admn. Cost (Note 3) 84,000 _
[l[ e J . ] 12,500 |  2,47.500
2 5 12
By P & L A/c (Abnormal loss)
Material stolen 5,000
Strike period wages 10,000
By Machine at site c/d
Original cost 2,60,000
(-) Depreciation 50,000
1(5,20,000 - 20,000 |
5 5 2,10,000
By Materials at site c/d 45,000
By Cost of contract to data c/d 9,86,500
To Cost of Contract to data b/d 9.86,500 | By Work-in-Progress
To Notional Profit c/d 142,333 Work certified 8.00.000
Work uncertified (Note 1) 3,28,833
11.28,833 11,28,833
To P & L Alc (Note 2) 45,547 | By Notional Profi 22
- rof
To WIP (Reserve) 96,786 4 thig 142,333
42,333 1,42,333
Note :1.Pcnm|:_l'lj|tatiun of Cost of Work uncertified Note: 3.
Work IEDDSIEDBI‘IDS; B Material Sent 4.00,000
- one = o0% Labour Cost 5 00,000
- Work certified = 8,00,000 = 40% . ,
20,00,000 (<) Material at site (45,000)
— I - 0s _ 0f =
Cusmi:r?:; T: Ittt—':tﬂ;a 6%3’2 ki '_?U%' (-) Abnormal ltems 15,000
on 0% Work =X 9,86,500  Normal Material & Labour 8.40,000

Hence, cost incurred on 20% work

9,86,500
60

=x20=%328,833

10% of 8,40,000 = 84 000
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Note : 2. Amount transferred to P&L Alc

As per the information given in the question, it is computed below -

Notional Profit x Work Certified y Cost Received
Contract Price

Work Certified

- 1.42.333 x 8,00,000 . 6,40,000
20,00,000  8,00,000

=% 45,547.

Answer fo Q. No. 14 .

Contract Account

< z
Tﬂ Mat&rialﬁ (SD.UGU W E] 15.000 B)f Materia‘s at site c;‘d 2.0[}0
6
To Labour (30,000 X -2-) 10,000 | By Plant at site c/d 8,000
6
To Overheads (30.000 X 1) 5,000 | By Cost of Contract to date c/d 30,000
6
8,000
To Plant issued ( 20 ﬂDD) 10,000
40,000 40,000
To Cost of Contract to date b/d 30.003 By Work-in-Progress 40 600
' ' Note 15,00 A -
To Notional Profit c/d (See ) work Ceriified L—s‘ ) EU.UDD]
Work uncertified (balancing figure) 5,000
45,000 45,000
To P&L Alc 57000 | By Notional Profit b/d 15,000
To WIP (Reserve) 1?5'333 =500

Note: Cumputatiun of Notional Profit

2
Itis given that -5 0

f Profit on cost basis = Z 8,000 transferred to P& L Alc

2 ~ Cash Received _ 8 000.
jg. —X Notional Profit ¥ I"u' K Certifie 4

3
80
2 - ©OY -8,000.
ie. E x Notional Profit % 100

Hence, Notional profit =X 15,000.
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Answer to Q. No. 15 . Contract A:cuunt forthe y .
in- t the end:
6.00,000 | Work-in-progress a8
;UEQTEI lant 2.00,000 | Work certified 1522223
MPEC:.:'I |p 3.00,000 | Work uncertified® 40. |
oatE:E sd 1.20.000 | Materials at site at the end ,000
e E?: fit c/d 658,200 | Plant at site at the end  2,00,000
HepandiEeE Less ' 10% depreciation 20,000 1,80.000
18,72,200 18,78,200
Profit credited to P&L A/c Notional profit b/d 6,568,200
2 80 3,51,040
BEB.ZUU X 5‘ H-'m—ﬂ
Reserve on Work-in-Progress
6,58,000-3,51,0401) 30,760
‘ 6,568,200 6,58,200

*Work uncertified has been calculated as under:

(i) Materials (5% of ¥ 3,00,000)

(i) Wages (6% of X 6,00,000)

(iii) Overheads (20% of < 36,000)
Cost of Work uncertified

Answer to Q. No. 16 .

I 1,5000
36,000
7,200
58.200

Contract Account for the year ending 31°' December 2009

7 <
Materials 50,000 | Work-in-progress at the end:
Wages paid 1,00,000 | Work certified 2,00,000
Foreman'’s salary 12,000 [ Work uncertified 44,550
Depreciation 1,200 | Materials at site at the end 9,000
Supervisor's salary 9,000
Other expenses 15,000
1,87.200
Notional profit c/d 66,350
2,953,550
| 93, | 2,53,550
Profit to be2 credited to P&L A/c 33,175 | Notional profit b/d 66,350
66,350 x 5 X (75 + 100)
Reserve on Work-in-progress
(66,350-33,175) 33.175
66,350
66,350

Computation of work uncertified:
Cost of contract to date = 2 1,78,200
Proportion of

* Total work done = 2
3
*  Work certified = Al
2
e Work uncertified = 21 _ !
3 2 6

- iy ST B L ST S— i
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Proportionate cost related to ) th contract is:
: .

Ry, 1,78,200 |
(2) x E = Rs. 4—4,500

3
Answerto Q. No. 17 : M/s Everfine Constructions
Contract Alc (1-7-2000 to 31-12-2000)
Particulars _ 7 Particulars o
To Building materials 8,00,000 | By Material at site 50,000
To Labour charges 6,00,000 | By Plant returned to stores 90,000
To Plant installed at site 4.00,000 | By Plant at site 2,70,000
To General expenses 2,50,000 | By Work-in-progress:
To Notional Profit c/d 435000 | Work certified 20,00,000
Work uncertified 75,000
24.,85,000 24.85,000
To Profit & Loss Alc (transfer) 204,000 | By Notional Profit b/d 4,35,000
To Work-in-progress (Reserve) 2,31,000
4,35,000 4,35,000
Calculation of Estimated Profit:
<
Actual expenditure up to 31-12-2000
Building Materials (Z 8,00,000 —% 50,000) 7,50,000
Labour Charges 6,00,000
General expenses 2,50,000
Depreciation of Plant (¥ 30,000 +X 10,000) 40,000
Total (A) [ 16.40,000
Estimated expenditure during 1-1-2001 to 30-9-2001
Building Materials (2 13,00,000 +X 50,000) 13,50,000
Labour charges 6,00,000
General expenses 3,55,000
Depreciation of Plant & Machinery 3.00,000 x 20/100 x9/12) 45,000
Total (B) | 23,50,000
Total Estimated expenditure of Contract (A) + (B) 39,90,000
Contract Price 45,00,000
Estimated Profit 5,10,000

Profit to be tra nsferred to Profit and Loss Alc
Cash received

Estimated Profit X .
Contract Price

Rs.18,00,000 _, 2 04,000
Rs.45,00,000

=¥ 5,10,000 x




'OST ACCOUNTING

4.38

CA R. K. MEHTA

\nswer to Q. No. 18 :

Swastik Company Ltd.,

Contract Account for the year ended 31-12-2001

. F ]
T Particulars ﬁ
?21::122:5 6.10,000 | By Machinery rgturned _—
- Cost-Depreciation) (32,000-4,000) ,000
To Direct labour 8,40,000 | ( _ 7
ials on site ,000
To Expenses 20,000 | By Matenals
To Machinery 1,60,000 By Machinery on hand 1 60.000
- 00 | Cost OV,
To Direct labour due 6.0 { ess: Returned 32.000
1,28,000
- iati 16,000
To Notional profit c/d 1 .47.000 | Less: Depreciation U 112,000
By Work certified 16,00,000
By Work Uncertified 20,000
17.83,000 17,83,000
To Profit & Loss A/c 78,400 | By Notional profit b/d 1,47,000
To Work-in-progress 68,600
ORI 1.47.000 1,47,000
Balance Sheet as at 31-12-2001
Liabilities § Assets T
Share capital Fixed Assets
35,000 shares of ¥ 10 each, Land and Buildings 70,000
fully paid up 3,50,000 | Machinery at stores 52,000
Add: Issued to Contract 1,60.000 2,12,000
Profit and Loss Alc: 96,900 | Current Assets
Materials at site 23,000
Current Liabilities Work-in-progress:
Creditors 82,000 | Work certified 16,00,000
Woages accrued due 6,000 | Work uncertified 20,000
Provision for depreciation 63,000
Add : Depreciation on 16,20,000
— Machinery at stores 6,500 L ess: Reserve 68 600
- Machinery at site 20,000 89,500 15,51,400
(4,000 + 16,000) Less: Advance 12,80,000
2,71,400
: Bank 48,000
24,400 6.24 400
e D O i e & Profit & Loss Accoaunt
10 _Uep. Un Viachine at Stores 6,500 | By Balance b/d
‘0 _Balance c/d 1 EGEQDD By Contract Alc. ?fg?lgg
03.4
= 1.03.400

e e mervm—
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swer 1o Q. No. 19 :
A;arﬁr:ulars S Contract Account
To Materials ¢ Particulars v
To Plant 37,500 | By Costing P & L alc:
To Wages 10,000 Plant 1,500
To Expenses 5‘2?233 . Pﬁfaterials 1,200 2,700
: : y Plant returned to stores
To Notional profit c/d 10,350 (2,000-200) 1,800
By Plant (Closing) 5.850
By Materials (Closing) 1,500
By Work-in-Progress
Work- Certified 1,00,000
Work uncertified 1,000 1.01,000
1,12,850 1,12,850
To fﬂé g:gfss ﬂ% ﬁrggsfer} 5,520 | By Notional profit b/d 10,350
To Work-in-progress Alc (Reserve) 4,830
10,350 10,350
?
Value of plant Less: (1) Abnormal Loss 1,500 10,000
(2) Returned to Stores 2,000 3,500
6,500
Less : 10% Depreciation 650
Closing plant 5,850
Balance Sheet as on 31-12-2001
Liabilities f Assets .1
Share Capital 40,000 | Buildings 17,000
Sundry Creditors 4,000 | Cash at Bank 4,500
Profit & Loss Alc 5,520 Materials on hand 1,500
Less: Abnormal loss 2,700 2,820 | Plant 5,850
Add: Plant in Stores 1,800 7.650
Work-in-Progress
Work certified 1,00,000
Work uncertified 1,000
Advance received (80,000)
Reserve (4,830) 16,170
46,820 46,820
Answer to Q. No. 20 : Contract at Mumba -
. 1 Particulars
?:ﬁ::g:js issued 2 20,000 | By Materials returned to Stores 10,000
. 2 55.000 | By Bank (Sale of Material) 10,000
To Direct Labour > 00.000 | By Material at site 18,000
To P!ant sent to Site .4[]:{!00 By Plant at site 1.70.000
To Direct Expenses 15.000 | By Work-in-Progress
To overheads 2000 | —Work Certified 6,00,000
ToProfit& LossA/lc — Work Uncertified 13,000
(Profit on sale of material) > 300
To Architect's Fees : |
To Material transfer from
Thane Contract ;gggg
To Notional Profit c/d 2 91 FDUD 8.21.000
To Profit and Loss A/c (Transfer) 38,400 | By Notional Profit b/c 72,000
To Work-in-Progress (Reserve) - ggﬁgg 72,000
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Profit to be transferred to Profit and Loss Alc
Cash received

2
= Notional profit x — x

3  Work certified

CAR K HEHTA

=¥ 72,000 x £ X E =3 38,400
3 100
Contract at Thane
Particulars T Particulars 4 .
To Material issued from Stores 2,00,000 | By Material returned to Stores 15,000
To Direct Labour 1,82,000 | By Material at Site 16,000
To Plant installed 3,50,000 Work Certified 2,40,000
To Direct Expenses 30,000 Work Uncertified 9,000
To Office overheads 10,000 | By Material transfer to -
To Architect's Fees 3,000 Mumbai Contract 10,000
By Plant at Site 3,15,000
By Profit & Loss A/c (Loss) 1.70,000 |
7,75,000 7,75,000
Answer to Q. No. 21 : Contract A/c (1999)
Particulars 4 Particulars d
To Materials sent to site 1,80,000 | By Plant at site 16,000
To Wages 1.70,000 | By Work-in-Progress
To Direct expenses 7,000 Work Certified 3,50,000
To Indirect expenses 3,000 | By Profit and Loss A/c (Loss) 14,000
To Plant sent to Site 20,000
3.80,000 3,680,000
Contract A/c (2000) '
Particulars T Particulars id
To Work-in-progress By Plant at site 10,000
Work certified 3,50,000 | By Work-in-progress
To Plant at Site 16,000 Work certified 11,50,000
To Material sent to site 2,20,000 Work uncertified 20,000
To Wages 2,30,000
To Direct expenses 25,000
To Indirect expenses 4,000
To Notional Profit c/d 3,35,000
11,80,000 11,80,000
To Profit & Loss A/c (Transfer) 2,01,000 | By Notional Profit b/d 0
) 3,35,00
To Work-in-progress (Reserve) 1.34,000
3,35,000 3,35,000
Profit to be transferred to Profit & Loss Alc
= Notional profit x 2 . Cash received
Work certified
=¥3,35,000 x= x L =22 01 000
100
- — I
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Contract A/c (2001)

rfisr‘;:cu:‘l:i:pmgress < Particulars T
Work certified 11.50.000 By Work-in-progress- Reserve 1,34,000
. ‘s;-;nrl'; urc@-:-rhﬁed 20,000 11,70,000 | By Plant at Site 4,000
o Plant at site | 10,000 | By Contractee A/c 15,00,000
To Materials sent to site 1.26,000
L 10 WEQEE . 1.70.000 i 'r
To Direct expenses | 9 000 '
To Profit and Loss Al 1,53,000 |
16,38,000 16,38,000
Answer to Q. No. 22 : Contract A/c (Year 2000)
Particulars _ 7 Particulars T
To Mgtenals iIssued 3,00,000 | By Material at site 5,000
To Direct Wages 230,000 | By Plant at site 7,000
To Direct expenses 22.000 | By Work-in-progress
To Indirect expenses 6.000 Work Certified 7.50,000
To Plant purchased 14,000 Work uncertified 8,000.
To Notional Profit c/d 1,898,000
7,70,000 7,70,000
To Profit & Loss A/c (Transfer) 1.05.600 | By Notional Profit b/d 1,98,000
To Work-in-progress (Reserve) 92,400
1,98.000 1,98,000
Profit to be transferred to Profit and Loss Alc
_ , Cash received
= Notional profit x — X =
3 Work certified
2 36,00,000
=% 198,000 x— X s =3 1,05,600
198,000 7 ¥7,50,000
Contract Alc (Year 2001)
Particu’ars £ :aﬁ::l li;sat site i; 000
L y Materi .
e :HHE:L( rlsrn]arﬁi:?gfﬁ 7,50,000 By Plant at the end 5.000
Work uncertified 8.000 By Contractee A/C 10.00,000 |
7.58,000
Less: Reserve __ 92,400 65 600
To Material at site Biggg
To Material issued ?' 000
To Plant at site 2' 000
To Plant purchased 10 S'UUD
To Direct wages I1D'DUD
To Direct expenses 1' 400
To Indirect expenses : 32' 000
To Profit & Loss A/C — 0'12‘ 000 10.12.000
T Contractee Alc
2000 ¢ 2009 6 ﬂfl; 000
000 By Cash MY
To Balance c/d — ggg 000 y 6.00,000
2001 e 6.00,000
00 | By Balance b/d MY,
To Contract A/C 10,00.0 B§ Cash 4,00,000
10,00,000 10,00,00€
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Answer to Q. No. 23 : —
| Particulars v Particulars e —
| To Materials issued 5,10,000 | By Profit & Loss A/c (Lost) 30,000
To WEQEE 3,10,000 Plant | '
To Plant issued 1,50,000 Materials 29.000 25,000
To Other expenses 50,000 | By Plant returned to stureszn 000
To Notional profit c/d 2,70,000 Cost -
P Less: Depreciation _3.000 17.000
By Materials in hand 23,000
By Plant in hand 85,000
By Work-in-progress.
12,80,000 x 100
Work certified
80
16,00,000
Work uncertified _10,000 | 16,10,000
17,90,000 17,90,000
To Profit and Loss a/c (transfer) 1,44,000 | By Notional Profit b/d 2,70,000
To Work-in-progress (reserve) 1,26,000
2,70,000 2,70,000
Profit transferred to P&L alc
h ived
= Notional profit 2 X Saohfoceiv
3 Work certified
0 .
=2,70,000 x — :B—U =% 1,44,000
. 3 100
Balance Sheet as on 31-3-2001 (Extract)
Liabilities . v Assets ¢
Profit & Loss Alc 1,44,000 Plant 1,50,000
(-) Abnormal Loss 55,000 89,000 | Less : Cost 30,000
(25,000 + 30,000) 1,20,000
Less: Returned 20,000
1,00,000
Less : Depreciation 15,000 85,000
Plant returned to Stores
(20,000-3,000) 17,000
Materials on hand 23,000
Work-in-Progress:
Work certified 1,60,000
Work uncertified 10,000
: 16,10,000
ess. Reserve 1.26.000
14,84,000
Less: Cash received 12,80,000 2.04,000
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Answer to Q. No. 24 -
Particulars Cn;trar.:t Account _
To Materials Particulars 4
To Wages 90,000 By Work-in-progress
To Plant 1.40,000 Certified 2,50,000
To Expenses 25,000 Uncertified 2,000
7.000 By Plant lost 5.000
By Materials lost 4,000
By Plant Returned
% 5,000 - Dep. @ 10%) 4,500
i . By Materials in hand 4,000
To Notional Profit c/d 21,000 By Plant at site
(Z 15,000 — Dec. @ 10%) 13,500
2.83.000 2.83,000
2
ToF&L AR (2'3“" x 3 %80 /ﬂ] 11,200 By Notional Profit b/d 21,000
To Reserve 9 800
21.000 21,000
Work certified = 2,00,000 x % = Rs. 2,50,000
Balance Sheet as on 31° Dec. 2006
Liabilities 7 Assets 4
Share Capital 1,20,000 Plant in store 4,500
P&LAJ 2,200 Plant at site 13,500
Creditors 10.000 Land and building 43,000
Materials at site 4,000
Work in progress.
Certified 2,50,000
Uncertified 2,000
2.52,000
[ ess: Cash 2.00,000
52,000
Less; Reserve 9,800 42,200
Bank 25,000
1,32,200 _1,32.200
Note:
Balance in P&L A/c is computed below
Profit from the contract » T 11,200
(=) Plant lost 5,0
(-) Materials lost 4,000 2_9.000
3 2,200
Contract Account
. to Q. 25.
Ans. 0 Q. 2 for the year ended on 31:03:2009
To Materials sent 3582600 By Materials returned 14,840
: 3 50,000 By Materials at side cld 85,400
To Planning cost 6,16,000

To Direct wages (32.62,?00#3*120} 33.40,820 By Plantatsite c/d

To Direct Expenses( 68,000+9,310) 177,310 By cost of contract to date c/d 78,87,490

To Plant installed 7,00,000
To Establishment expenses 2,03,000
To H.O. expenses _2,0,000

86,03,730

86,03.730
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By WIP
To Cost of Contract to date b/d ?EE;;?E Y "> Work certified 7990000 |
To Notional Profit c/d Sl _» Work uncertified E%%%ng
0
83,07,000 _ —E“—L-QQ
By Notional Profit b/d 19,510
ToP & L Alc. 251,706 By
2 iﬂ_)
[_34,.- 419,510 %=
To Reserve (WIP) __1._15_7"&% RTYRT
Balance Sheet (Extracts) |
as on 31:03:2009
i biliti Amount Assets Amount
P& tlﬂélltlﬂs 251,706  Plant at site 6,16,000
Accrued ‘.;‘Jages 78.120 Material at site 85,400
Accrued Expenses 9,310  Material at stores 14,840
Work-in-Progress :
Work Certified 79,90,000
Advance Received(71,91,000)
Work Uncertified 3,17,000 .
Reserve 1,67,804 9,48,198
Ans. to Q. 26. Contract Account for the year ended on 30:09:2012
To Materials sent 14.00,000 By Materials at site c/d 30,000
To wages 2,55,000 By WIP
To Site expenses s 5,0000 — Work certified 20,00,000
To Power and Fuel 1,25,000 — Work uncertified NIL
To Office expenses 12,000
To Rates and Taxes 15,000
To Depreciation 75,000
To Notional Profit c/d 143,000 ]
20,30,000 20.30.000
To P&L Alc. [% x1,43,000 x I%DD] 42,900 By Notional Profit b/d 1,43,000
To Reserve (WIP) 1,00,100
1,43.000 1.43.000
Ans. to Q. 27. Contract Account for the year ended on 31:03:2002
To M.ateriai issued 90,00,000 By Material returned 1,00,000
To Dlrectwages (3,80,000+1,10,000) 39,10,000 By Materials at site c/d 18,00,000
To Plant hired 7,00,000 By Plant at site c/d 5.00,000
To S{te office cost 2,70,000 ByWIP
;’u llilrectPExpenses 5,00,000 - Work certified 1 00,00,000
0 Plant Purchased 8,00,000 —  Work uncertified NIL
To Notional Profit c/d 12.20.000
1,24 .00,000 I
ey 1,24,00,000
ToP&LA/. 12,00,000 By Notion . g
VY, al Pr 0
To Reserve (WIP) 20 000 ! ofit bid 12,20,00
AT AN e E—
EM 12 20 000
Lv) — 1 i z 1!'00!00:000
7% of Work Certified = x100 = 92.6%

< 1,08,00,000

—— e ey —

B B e i SR T =
] I
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The contract is nearing completi
P&L Alc.— ) pletion stage. We select the following formula for transfer of profit to

=stimated Profit x ork Certified | CashReceived

Contract Price = Work Certified
_718.00,000 x 1:00:00.000 _ 72,00,000

1,08,00,000 % 1.00.00.000 _ % 12:00.000
ToWeges 525000 By WIP
3,00,000 —» Work Certified
To Overheads 75,000 [11.25,000 x 100)
90
To Notional profit c/d 3 50 000 _, Work uncertified
12.50.000
To P&L Alc. 105000 By Notional Profit b/d
1,3,50,000 x 22122299
3 12,50,000
To Reserve (Wlp) 2 45.000
3,560,000
Year2 Year 2
To WIP b/d By Reserve (WIP)
—» Work certified 12.50.000 By Contractee’s Alc.
—» Work uncertified NIL
To Materials 7.50,000
To Wages 6,00,000
To Overheads 1,50,000
To P & L Alc. 495,000
32,45,000
Contractee’s Account
Year 1 Year 1
To Balance c¢/d 1125000 By Bank Alc.
Year 2 Year 2
To Contract A/C. 30.00,000 By Balance b/d
By Bank A/C.
30,00,000
Ans. to Q.29.
Contract Price ¥ 25,00,000
Work Certified 2 24,00,000
Cash Received % 21,60,000
Cost of Contract to date T 19,80,000
Total Estimated Cost
Cost of Contract to daté T 19.80,000
(+) Estimated Addl. Cost (+) 1.20,000
7 21,00,000
Estimated Proiit
ﬂtcduntrrzg Price 2 25,00,000

(-) Estimated Addl. Cost

() 21.00,000
2 4,00,000

.,__.I.-—'h--

12,50,000

NIL
12,50,000

#-_-

3,50,000

3,50,000

2,45,000
30,00,000

32,45,000

11,25,000

11,25,000
18.75,000
30,00,000




el LY =T iy | _"

Method 1

Estimated Profit x

= 34,00,000 x

Method 2

Estimated Profit »

I

Method 3

24.00.000 x <24.00,000 21,60,000

Computation of amount of profit to be taken to Profit & Loss A/c.

under different methods

Work Certified
Contract Price

3 24,00,000 - %3.84.000
<25,00,000

Work Certified ) CashReceived
Contract Price Work Certified

= 3,45,600

%25,00,000 % 24.00,000

Estimated Profit Cost of Contract to date

Method 4

Z4,00,000 x ~19.80.000

Total Estimated Cost

=33,77,14
<21,00,000 < 77,143

Estimated Profit Cost of Contract todate CashReceived

Recommendation : On conservative basis, it

Z4,00,000 x ¥19,80,000 21,60,000

Total Estimated Cost - Work Certified

321,00,000 224.00000 _« 539429

(1€.33,39,429)to P & L A/c.

Ans. to Q.30. Contract Account from 01:01:2007 to 31:12:2007
To Materials 187,000 By Materials at site c/d
To Wages ¢,70,000 By Cost of Contract to date c/d
To Plant Hire Charges 60,000 ‘
To Establishment 54,000

5.71,000
To Cost of Contract to date b/d 9,60,000 BywlP
To Notional Profit ¢/d 60,000 — Work Certified

—  Work Uncertified

6.20,000
To P&L Alc. 48,000 By Noti '
To Reserve (WIP) 12,000 ! onel Profit bid

e e

% of work certified =

The contract is nearing completion stage. We select the followi
Profit and Loss A/c. wing formula for

e ———

26,00,000 )
27,00,000 100 =100 =285.7%

Estimated Profit x .ok Certified CashReceived

Contract Price  Work Certified

Is recommended to transfer the least amount

11,000
9,60,000

2.71,000

6,00,000
20,000
6,20,000

60,000

transfer of profit to
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©.00,000 560
= 60,000 x 20,900 _
7.00,000 ~ 6,00,00p ~ < 48.000
Estimated Profit = Contract price — |
= 7,00,000 % 6.40 00p - 2 60,0 Total Estimated Cost
Total Estimated Cost
Cost of Contract to date 4
: 60,000
(+) E_strmared Additional Cost o
(!? Materials Cost — (5,000 + 11,000) 16,000
(g[} Wages — 20,000
(ilf) Plant, Hire charges — 10,000
(iv) Establishment expenses — 2,000
6,08,000
Provision for contingencies (6,08.000 x i) 32,000
Total Estimated Cost 6.40.000
____./
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PROCESS COSTING

M product passes through three processes A, B and C. The normal wastage of each

process Is as follows:

Process A - 3 percent. Process B - 5 percent, Process C - 8 percent,
Wastage of Process A was sold at 25 p. per unit, that of Process B at 50 p_per unil and

Process ‘A’
4
Sundry Material 1,000
Labour 5,000
Direct Expenses 1,050

Actual Output was .

Process ‘B’
4
1,500
8,000
1,188

that of Process C at T 1 per unit. hﬂﬁﬂﬂ-uﬂﬂg were Issued 1o F'rcace_ggﬁ_tn"tne beginning

of October. 2013 at a cost of 2 1 per unit) The other expenses were as follows

Process ‘C’
4
500
6,500
2,008

Process A 9,500: Process B 9,100; Process C 8,100 units. |
Prepare the Process Accounts. Also give the Abnormal LOSS and Abnormal Gain

Account.

}V‘:ﬂ. product passes through three processes - A, B and C. The details of expenses incurred
L on the three processes during the year 2014 were as under

Process A
Unit issued/introduced cost 10,000
per unitx 100
4
Sundry Materials 10,000
Labour 30,000
Direct Expenses 6,000
Selling price per unit of output 120

B

4
15,000
80,000
18,150

165

c

<
5,000
65,000
27,200
250

Management expenses during the year were 80.000 and selling expenses were
¥ 50,000. These are not allocable lo the processes.

Actual output of the three processes was )

its, ' - its. Two-thirds of the output of Process A

- 0 units: B - 5,400 units and C - 2,100 units
gndgfnne-half o( the output of Process B was passed on to the next process and the
balance was sold. The entire outpul of Process C was sold.

The normal loss of

Process A - 5%, B - 15% and C - 20%.
The loss of Process A was sold at T 2 per unit, that of B at ¥ 5 per unit and of Process C

atT 10 per unit.

Prepare the three proce

sses accounts and the profit and loss account.

the three Processes, calculated on the input of every process was .
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gh three different processes - A Band C |tig

# o u l
ko ThR.product ok 8 Gompam et o tage in each process is incurred as under :

ascertained from past experience that was !
Process A - 2%. Process B : 5%, Process C . 10%.

The wastage of each process has a scrap value. _the wastage of Proce
at Z 1 per unit and that of process C at T 4 per unit.
r the month of July, 2012 :

The company gives you the foliowing infurmatinn_fu |
2,000 un?tz :f crude material were introduced in Process A at a cost of X 8 per unit.

Besides this the following were other expenses.

ss A and B is so|g

Process ‘A’ | Process ‘B’ | Process /C’
4 < g

Materials consumed 8,000 3,000 2,000
Direct Labour 12,000 8,000 6,000
Work expenses 2,000 1,000 3,000
Units Units Units
Output 1,950 1,925 1,990
Stock: July 1 200 300 500
July 31 150 400 100

Stock valuation on
July 1, per unit 19 112? 36.5

Stock on 31st July, 2012 are to be valued as per FIFO method for Process A, as per
LIFO method for Process B and as per Weighted Average Method for Process C.

Prepare the Process Account.

Q.4. A product passes through three processes - A, :B and C. 10,000 units at a cost of ¥ 1.10
.~~~ were issued to process A. The other direct expenses were as follows :

Process ‘A’ Process 'B’ Process ‘C’
¢ 4 <
Sundry Materials 1,500 1,500 1,500
Direct Labour 4,500 8,000 6,500
Direct expenses 1,000 1,000 1,563

The scrap of process ‘A’ was 5% and in process ‘B’ 4% on input. The scrap of process ‘A’ was
sold at ¥ 0.25 per unit and that of ‘B' at T 0.50 per unit and that of C at Z 1.00 per unit.

The overhead charges were 160% of direct labour. The final product was sold at T 10 per

unit fetching profit of 20% on sales. Prepare 3 processes accounts and find out the

f,..number of units of scrap in process C.

. The input to a purifying process was 16,000 kg. of basic material
. , purchased @ < 1.20 per
)/ kg. Prncgss wages _arnqunted to X 720 and overhead was applied @ 240% ?f the Iabgur
cost. Indirect materral_s Introduced into the process at a cost of Z 336. The actual output
from the process weighed 15,000 kg. The normal yield of the process is 92%. Any

difference in the weight between the input of basic materi | | _
(product) is sold @ Z 0.50 per kg. ial and output of purified material

The process is operated under a licence which provides f
* , or the paym
< 0.15 per kg. of the purified material produced. Prepare the releualﬂ aicﬁﬂt:tif oy €
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Q.6.

Q7. A product passes throu

v
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000 units have be
% 68,000. Costs incinrr::n:tfimd to a Process from the previous process at a cost of
materials of 50 containers of 2“: kpfncess included a purchase of additional chemical
incurred at the process oy 9. each at a cost of ¥ 60 per container. Other costs

< 26,924,
Generally 5% of Input uni

< 20 per unit. Em
damaged

s are damaged in the process. The damaged units are sold @

Ply containers are so|g : .
and become worthless at ¥ 6 per container, but 2% of containers get

During the week for whij . ,
at the process but Dnlglir';' 12:1 Cost details are given, a total of 1,930 units were finished

700 units produced at the prncpw containers could be sold and the rest were damaged.

ess were sold outsi '
output was transferred to the hext procese. de @ T 80 per unit. Rest of the process

:ra.ef 252 Process A/c, Empty Containers Alc, Normal Loss a/c, Abnormal Gain a/c and

gh two processes A and B. From the following particular relating

to process A, ﬁnd_ out equivalent production and prepare the process account.
Units introduced in process A - 2,000 valued at T 5,800.

Amount spend as labour and production overhead-are % 3,340 and 1,670 respectively.
Additional materials introduced during the process — 2 1,440.

1,400 completed units were produced in process A and transferred to process B,
Incomplete units 460.

Units actually scrapped 140 and sold at T 1 per unit.
The normal process loss was estimated at 5% on input.

It was estimated that incomplete units had reached a stage in production as follows :

Materials 75% complete
Labour 50% complete
Overhead 50% complete

|
From the following details prepare the Process 1 Account: :

Opening work-in-progress 2,000 units

The costare : 4
Material (100% complete) 7.500
Labour (60% complete) ?ggg

Overhead (60% complete)
Units introduced into this process 8,000 |
units in process at the end and the stage of completion estimated to be :

There are 2.090 una
Material 0%
Labour 0%
Overhead
8.000 units are transferred to Iprucess 2
The process COStS for the period are .

1,.00,000

Material 00,000
Labour e

Overhead
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COST ACCOUNTING

With the help of the following information, p
Opening stock of work-in-progress
1,000 units at T 10,000

Degree of completion : i
Material 100%. Labour 50%, Overhead 40%.

Introducing during the process.
10,000 units at ¥ 37,800

Wages : T 17.840

Overheads : T 8,840.

Scrap 1,500 units

Degree of completion:
Material 100%, Labour 80%, Overhead 60%.

Closing Stock - 1,000 units.

Degree of completion :
Material 100%, Labour 60%, Overhead 50%.

Normal Loss is 11% of units introduced in the process.

Scrap Value X 2 per unit.

t}w./ The following data pertains to pﬁrucess | of Beta Ltd. :

Q.11.

Opening work-in-progress
Degree of completion :
Material 100%, Labour and Overhead 33 1/3%

Input of Materials
Direct Labour ¥ 14,000; Overheads I 28,000

Closing work-in-progress

repare Process A Account :

<
1,500 units at 15,000

18,500 units at 52,000

5,000 units

Degree of completion: Materials 90%, Labour and Overhead 30%.

Normal Process Loss is 2,000 units
Scrap Value ¥ 2.00 per unit.
Units transferred to the next process 15,000 units.

You are required to prepare Process | Account :

You are given the following data for preparation of Process B Account :

Opening work-in-progress 200 units
Transfer from Process A 800 units
Material added during the process
Labour

Overheads

Unit Scrapped 100

Closing work-in-progress 300 units.

Degree of Completion: Opening W.I.P
Material 80% '
Labour 60%
Overhead 50%

Normal Loss : 10% of gross output
Sale of scrap : T 5 per unit.

4
3,000
7,650
2,720
2,604
1,276

Cfusing W.ILP. Scrap
70% 100%
0% 70%
40% 60%
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Q.12.

From the following
accounts :

Opening WIP in Process |I
Transfer from Process Il
Transferred to Warehouse

CA R. K. MEHTA

Information for the month of October 2012, prepare Process il Cost

1,800 units atX 27,000
47,700 units atx 536,625

: 43,200 units
Closing WIP of Process Ii 43500 u::::s
SIiis soiepped 1,800 units
D!rer:t material added in Process Il ?'1 77.840
Direct Wages
Producti T 87,840
uction overheads % 43,920
Degree of completion :
: Opening Stock Closing Stock Scrap |
Wiateridl 80% 70% 100% .
Labour 50% 50% 70% |
Overheads 60% 50% 70% |
The "'?"“a' loss in the process was 5% of gross production and scrap was sold @Y 6.75
per unit.
Ans. Process lll Accounts
Units 4 Units <
To Opening WIP 1,800 27,000 By Normal loss 2,250 15,187
To Process |l 47,700 5,36,625 @3T6.75
To Direct Materials 1,77,840 By Warehouse 43200 795373
To Direct Wages 87,840 By Closing WIP 4,500 70,978
To Prod. Overheads 43,920
To Abnormal Gain 450 8,313
49950 8.81.538 49950 8.81,638
Statement of Equivalent Production (FIFO)
Equivalent Units
Units Units Material (1) Material (2) Labour & OH
In Particulars out % Qty. % Qty. % | Qty.
1, Op. WIP completed 1,800 - - 20 360 40 720
47 ggg In!:roduced and completed 41,400 100 41,400 100 | 41,400 100 | 41,400
Transferred "%gg - - - -
gf:;r?:; WP 4,500 | 100 4500 70| 3.150 50| 2250
Abnormal gain aso) [ 001 (@50 ] 100 @50 | 100 | (450
49,500 49,900 45,430 44,460 920
statement of Cost per unit
Type of Cost Amount E.q. units Cost per uni
Mat. (1) 5,36,625
5,21,438 45,450 11.4728
(-) N. Loss _ 15187
1,77,840 44,460 4
Mat (2) 87,840 43,920 2
Lapour 43,920 43,920 1
Overheads
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COST ACCOUNTING 5.6
Statement of Value of Equivalent Production .
5,163
Abnormal Gain Mat (1) 450 11.4728 1800
Mat (2) :gg ; poe:
ort 450 ! 450 8,313
28 51,628 )
i Mat (1) 4,500 11.47
Closing WIP at (2 3150 4 ] ﬁggg
Lab 2,250 2 '
OH 2,250 1 2,250 ?0,9?{
Opening WIP completed Mat (1) -- 11.4728 1 445
Mat (2) 360 4 :
Lab 720 2 1,440
OH 720 1 720 3,600
Introduced and completed Mat (1) 41,400 | 11.4728 | 4,74,973
Mat(2) | 41,400 4 1.65,600
Lab 41,400 2 82,800 |
OH 41,400 1 41,400 7,64,773
Total Cost of 43,200 units transferred to Warehouse |
Op. WIP, now completed (1,800 units) : X
— Cost already incurred 27,000
— Cost now incurred 3,600 30,600
Introduced and completed (41,400 units) 764773
7,95.373

Note : Normal loss is computed on gross production j.e. op. WIP + Units received from

Process Il - closing WIP 1,800 + 47,700 — 4,500 = 45,000 units.

Q.13.
Opening stock 1,500 units made up of;
Direct Material | T 12.350 Direct labour ¥ 7500
Direct Material Il T 13,200 Overhead < 11,000
Transfer from Process No.I: 15,500 units @ X 3.50 per unit
Transfer to Process No.3: 13,000 units
Direct material added

In Process No. I < 30,000
Direct labour, added % 60,000

Normal loss: 10% of gross production
Scrapped units realise ¥ 3 per unit
Closing stock: 3,000 units

Degree of completion:

Actual scrap:

Direct materials 60%
Direct labour 30%
Overhead 30%

Overhead incurred 70,000
1,000 units

Prepare the necessary statements together with Process No.2 account.

Q.14. The following data relate to Process Q :

() Opening work-in-process 4,000 units
Degree of completion

The following information is given in respect of Process No.2 for the month of January;

Materials 100% T 24000
Labour 60% 4 14'400
Overheads 60% 4 7'200
(ii) ?ﬁc?e{vgg during the month of April, 2008 from Process P 40,600 units
71,000

(i)  Expenses incurred in Process Q during the month

e —————
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Q.16.

57 CA R. K. MEHTA
Materials ? 79,000
Labour '
‘ Over'heads ; 1 38921:.3‘2%
(iv)  Closing WOrk-in-process 3 Uﬂ-b units
Degree of completion - |
Materials 100%
~ Labour and Overheads 50%
(v)  Units scrapped 4,000 units
Degree of completion : | |
Materials 100%
Labour and Overheads 80%

(\;E? Nurmal loss : 5% of current input.
(\m) Spoiled goods realised 2 1.50 each on sale.
(viii) Completed units are transferred to warehouse.

Prepare Process Q Account

A Company prnduces a component, which passes through two processes. During the
month of April, 2612, materials for 40,000 components were put into Process | of which
30,000 were completed and transferred to Process Il. Those not transferred to Process

were 100% complete as to materials cost and 50% complete as to labour and overheads
cost. The Process | costs incurred were as follows:

Direct Materials % 15,000
Direct Wages < 18,000
Factory Overheads < 12,000

Of those transferred to Process I, 28,000 units were completed and transferred to
finished goods stores. There was a normal loss with no salvage value of 20 units in
Process Il. There were 1,800 units, remained unfinished in the process with 100%

complete as to materials and 25% complete as regard to wages and overheads.

The costs incurred in Process |l were:

Materials < 4,000

Direct Wages < 3,500

Factory Overheads 34,500
Required:

(i) Prepare Statement of Equivalent Production, Cost per unit and Process | Alc.
(i) Prepare statement of Equivalent Production, Cost per unit and Process Il A/c.

BC Limited manufactures a product ‘ZX' by using the process namely RT. For the month

of May, 2014, the following data are available :

Process RT |
Material introduced (units) 16,000
Transfer to next process (units) 14,400
k in process : |
E:E;Lelbeginning of the month (units) (4/5 completed) 4.000
At the end of the month (units) (2/3 completed) 3.000

Cost Records : o
’ Work in process at the beginning of the month

Material T 30,000
—»

—» Conversion custth Materials s :' ggﬁgg
Cost during the MOn& - % 1,60,000

Conversion Cost

Normal spoiled u ' .
no realizable value for spoiled units.

Average Cost Method.

i o of goods finished output transferred to next process. It has
nits are 10% O 0 Prepare Process RT Account on the basis of
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chairs. Three models of moulded chairs all

p | d .
.17 RST Ltd. manufactures plastic moulde T s And Execulive.

variation of the same design are Standard,

RST Ltd. has extrusion, form. trim
the extrusion operation. During lEe
chair seats and the legs are a

During the tnm operation, the arms are added

the chair edges are smoot

operation. In April, 2013, the relevant information is given below :

: Conversion Cos
OgeraFinn hil?a;ﬁr[l}ﬂdo 6,06,375 .
Extrusion ?;? [jUU 2.97.000
Form 26,250 1:99.250
Trim ! 94,500
Finish 21,000 '

The company is able to produce 10,500 chairs of Standard Model, 5,250 chairs of Delyxe

Model and 3,500 chairs of Executive Model.
Required:

() For each product produced by RST Ltd. during April, 2013, determine the unit cost

and the total cost.

(i) Now consider the following information for May. All units costs in May are identical to the
April unit costs calculated as above in (). At the end of May, 1,500 units of the Deluxe
model remain in work-in-progress. These units are 100% complete as to matenals and

o complefe in the trim conversion operation. Determine the cost of the Deluxe model
work-in-process inventory at the end of May.

Q.18 The fullowing data have been taken from the books of a process industry :

| | ic sheets are produceq p,
nd finish operations. Plast!c S .
?urrmng operation, the plastic sheets are moulded int

ded. The standard model is sold .'aft'E".th's ObEration,
' to the Deluxe and Executive models gnq

hed. Oniy the executive model enters the finish operation, jp
which padding is added. All of the units produced receive the same steps within egep,

Process | | Process |l

(<) (%
Material 12,000 -
Wages 4,800 6,000
Overheads

24,000 12,000

Closing stock 8,400 15,600

Process goods transferred from Process | to Process Il at g
profit of 10% on transfer price

?
Finished products transferred from Process Il to stores at g

?
profit of 20% on transfer price
50% of the finished goods have been sold during the period for 30,000

You are required to prepare the pr

: OCESS accounts and finished goods st nt and
_compute the amount of unrealised pr g ock account

ofitin each process, the finished goods stock and in total.

- A Ltd. produces a product, ‘AXE’ which passes

. through two processes it i leted
and transferred to the finished stock The following data relatelz'; to Octnb:re fnre it Is comple

Particulars Prnc;ss I Process | Finished Stock
_ v v

Opening Stock 7,500
Direct Materials 15,000 13‘223 4
Direct Wages 11,200 11 '250
Factory Overheads 10,500 4‘500
Closing Stock 3,700 4'5[]0
Inter-Process Profit included | 1230

__in opening stock | NIL 1.50

I 200
The output of Process | is transferre - — ]

d to Process || af Zﬁ“ﬁrufit on the traﬁsfer ;;rir:E.
red to finished stock at 209

, % Profit on the transfer price.
Prime cost. Sales during t

| he period are < 1,40,000.
nished Goods Accounts, Showing the profit elements at each

~ The output of Process || is transfer
The stock in process are valued at

Process Cost Account and Fi
stage.
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Q.21.”

Q.22.

Q.23.

Q.24.

"

CAR. K. MEHTA |

the joi .
: € Joint cost on the basis of market value at spilit off point

Product X < 1,60.000
I|:"‘.‘.|n:‘.ur.iul:t Y 20,000 Units
arket Price per uni 25,000 Units
: n
at split off point t \:{“ ; 20
40

realised for Caustic Sed grugr:cti‘un was sold and ¥ 3,75,000, ¥ 2,50,000 and ¥ 60,000 were
estimated at 5% of + »orine and Hydrogen respectively. The selling expenses were

realisations from sal
and 5% of realisati sale. The management expected profits @ 15%, 10%
o e o lisations from sale of Caustic Soda, Chlorine and H}ﬁ‘.irngenp;especﬁely.
columnar state i -
Sroduct ment showing the apportionment of joint costs and the profit of each

A factory produces two joint o - ot
cost is mentioned belo “:1: products (X and Y). The joint cost is ¥ 3,00,000 and the separate

. X Y
Materials ¢ 90,000 ¢ 45,000
Labaour 42.000 30,000
Overheads 18,000 15,000

| 1,50,000 90,000
Final Seles Value 4.80.000 2,40,000
Expected Profit on Selling Price 25% 20%

Sellinq expenses were also incurred on the products. Prepare a statement showing
apportionment of joint cost. Also, prepare accounts of Products X and Y.

A factory is engaged in the production of chemical X and in the course of its manufacture a
by-product Y is produced, which after a separate process has a commercial value. For the
month of March, 2012 the following are summarized cost data:

Joint expenses Separate expenses
X Y
4 < <
Materials 19,200 7.360 780
Labour 11,700 7,680 2,642
Overheads 3.450 1,500 544

The output of the month was 142 tonnes of X and 49 tonnes of Y. The selling price of Y

averaged T 280 per tonne.
Assume the profit on Y is estimated at 50% of selling price, calculate joint cost per tonne of X.
The following details have been extracted from the costing records of an Oil Mill for the year
ending on March 31, 2012 :

f copra % 4,00,000
Purchase of 1,000 tonnes o1 €oP Crushing Refining Finishing
4 4 T

Cost of Labour 2,000 2,090 3'030

S 200 720 480
Electric Power 1 200 4000 e
Sundry Materials_ 560 660 280
Repairs of Machinery 1.200 900 235
Steam 2,640 1,320
Factory Expenses 15,000

Cost of Casks
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' d.
nnes of crude oil were produce | |
ggg :Ennes of oil were produced by the refining process

496 tonnes of refined oil were finished for delivery.

Copra Sack sold for ¥ 800
35['13 tonnes of copra residue sold for T 22.000.

| ight in crushing 50 tonnes. . 5,600
33512::2:5&3 by products obtained from Refining Process Valued at ¥ 13,500

' t of each of the following stageg
ired to show the account In respec
;;iu?arzturr?ﬁgu Ifrr.:E:r the purpose of arriving at the cost per tonne of each process, and the total

cost per tonne of finished oil .

3.25. Sellwell Ltd. operates a chemical process which pruduceg four product A, B, C anqg p
from a basic raw material. Joint cost of a month Is as under;;
Direct Materials consumption 17,520
Initial processing wages 16,240
Initial processing overheads 16,240
50,000
Additional Processing Costs
Products Production Sales after split off
Kgs. v v

A 16,000 1,09,600 28,800

B 200 5,600 —

C 2,000 30,000 16,000

D 360 21,000 6,600

The company presently intends to sell products B at the point of split-off without further
processing. The remaining products A, C and D are to be further processed and sold.
However, the management has been advised that it would be possible to sell all the four

products at the split-off point without further processing and if this course was adopted,
the selling price would be as under :

Product A B C D
Selling Price
per kg. () 4.00 28.00 8.00 40.00

The Joint Costs are to be apportioned on the basis of the sales value realisation at the
point of split-off.

You are required to :

a) Prepare a statement showing the apportionment of joint costs.

b) Prepare a statement showing the product-wise and total| budgeted profit or loss

based on the proposal to sell product B at the s lit-off poij
after further processing. P point and products A, C and D

C) Prepare a statement to show the product-wise ang total profit | '
orlo rnative
strategy to sell all the products a split-off stage was adugted. 5 1l the alte

d) Recommend any other alternative which, in your opinion, can increase the total profit

further. Calculate the tota| profit and also the product-wise profit or loss, based on

your recommendation.

A company's plant processes 1,50000 kgs. of fare s
products, viz. ‘P* and ‘Q'. The cost of raw materg| - . 12 .C1aIS in a month to

dare ;

Indirect Materials
Direct wages
Variable Overheads
Fixed Overheads
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Q.27.

Q.28.

Q.29.

CAR. K. MEHTA

The loss i - .

EimultanemeEr?;%ﬁg I'El'h 5% an mpuﬁt and the output ratio of P and Q which emerge
P 2 12 per kg. and Q ! ) € selling prices of the two products at the split-off points are
th ' 20 per kg. A proposal is available to process P further by mixing it with
otner purchased materials. The entire curren

: t output of the plant can be so processed further

to obtain a new product ‘S’ the pri ' wi
. c

requre one kg. of price per kg. of S is ¥ 15 and each kg. of output of S will

input P. : ) )
2 1,85,000 per month. P The cost of processing of P into S is

Will you recommend further process;i | i ' '
. Ing? W
'S'is % 16 per kg P g hat will be your answer if selling price per unit of

A company processes a raw material in its Department 1 to produce three products A, B
and X at tr_'.e same split-off stage. During a period 1,80,000 kgs. Of raw material were
processed in Department 1 at a total cost of ¥ 12,88,000 and the resultant output of A, B
and X are _‘IB.DDDkgs.. 10,000 kgs. and 54,000 kgs. respectively. A and B were further
processed in Department 2 at a cost of ¥ 1,80,000 and ¥ 1,50,000 respectively. X was

furtper processed in Department 3 at a cost of ¥ 1,08,000. The details of sales effected
during the period were as under:

A B ) ¢
Quantity sold (kgs.) 17.000 5,000 44,000
Sales Value () 12.24,000 2,50,000 7.92,000

There were no opening stock. If these products were sold at split-off stage, the selling price of
A, B and X would have been T 50, ¥ 40 and T 10 per kg. respectively.

Required:

(i) Prepare a statement showing the apportionment of joint cost to A, B and X.

(i) Present a statement showing the cost per kg. of each product indicating joint cost,
further processing cost and total cost separately.

(iii) Prepare a statement showing product wise and total profit for the period.

(iv) State with supporting calculations as 1o whether any or all the products should be
further processed or not.

The yield of a certain process is B0% as to the main product, 15% as to the by-product
and 5% to the process loss. The material put in process (5,000 units) cost T 23.75 per
unit and all other charges are ¥ 14,250, of which power cost accounted for 33 13%. Itis
ascertained that power is chargeable as to the main product and by-product in the ratio of
10:9. Draw up a statement showing the cost of the by-product.

In a chemical manufacturing company, three products A, B and C emerge at a single split
off stage in department P. Product A is further processed in department Q. product B in

[ . There is no loss in further processing of
department R, and product C in department S i
an? of the three products. The cost data for a month are as under :

Cost of raw materials introduced in department P < 12,68,800

T

] Wages : Department

Direct g Pp 84,000
96,000

Q ,
R 64,000
S 36,000

Factory overheads of Z 464,000 are to be apportioned to the departments on direct
wages basis. |
During the month under reference, the company sold all three products after processing
them further as under

A B c
Eﬁgﬁ’o,d - 44000 40,000 20,000

Selling Price per kg. () 32 24 16
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s, without further processing, the

split off stage, that i

If these products were sold at the d 7 10 each per kg. respectively for A, B

selling prices would have been ¥ 20, Y22 an

and C.

Required : t showing the apportionment of joint costs to joint products on the

(i) Prepare a statemen £ it
basis of physical numBes 2 duct-wise and tota: profit if products are sold without

(ii) Prepare a statement showing product

ing. -
further processing owing product-wise and total profit for the month under

iiil Present a statement sh :
- reference If the products are sold after further processing. 3
(iv) What processing decision should have been taken to improve the profitability of the

company? o o
(V) Calcﬁlatg the product-wise and total profit arising from your recommendation in (jv)

above.

Q.30. JKL Limited produces two products — J and K together with a by-product L from a single

main process (process |). Product J is sold at the point of separation for ¥ 55 per kg,
whereas product K is sold for ¥ 77 per kg. after further processing into product K2. By-

product L is sold without further processing for ¥ 19.25 per kg.
In process | it is generally seen that the toxic waste is 5% of input which is disposed at

cost of ¥ 16.50 per kg.

The fo''owing actual data relate to the first week of the month :
Process |

Material input 40,000 kg costing ¥ 6,60,000
Direct labour ¥'4,40,000
Variable overheads ¥1,76,000
Fixed overheads X 2,64,000
Outputs :

Product J 19,200 kg
Product K 14,400 kg
$;oquct Lt 4,000 kg

XIC wasie
2.4
Process JI N
Input of product K 14,400 kg
Conversion cost (Including fixed cost of Z 2,00,0000 T 5 IUU 000
Output of product K2 13I ZOID k
Closing Work-in-progress (50% converted and | Y
conversion costs were incurred in accordance wi
planned cost structure) = wih the 1,200 k
- gJ

Required :

(i) Prepare Process | account for the first week of the month

(i) Prepare the Process || acc

. ount for the first week

(iii) Advise the managem.znt of JKL Limited wheth ot g morth
should continue to process product K into product K2

(b) IfT 1,00,000 as the weex" fixeq Costs

further processing is not done °f Process Il cannot be avoided even if
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Q.31.

Q.32.

313 CAR. K. MEHTA

Pokemon Chocolat
es
Cocoa beans and Drncerganmact“r?ﬂ and distributes chocolate products. It purchases
e Chocol Ses them into two intermediate products:
‘ olate powder liquor base (CPLB) OGS
* Mik-chocolate liquor base. (MCLB)

These two intermediat
e
Every 500 pounds of co Products become separately identifiable at a single split of point.

C u
30 gallons of milkfhncnl:ti EEEQEJ;EEEE 20 gallons of chocolate-powder liquor base and

Production and sales data for October, 2013 are:

e Cocoa beans proc
Processe 7,500 pounds

Costs of processing Cocoa beans to split off point

(including purchase of beans) =7 7,12,500
Production Sales Selling price
Chocola
Milk oh te Ipuwder 3,000 pounds 3,000 pounds ¥ 190 per pound
ocolate 5,100 pounds 5,100 pounds ¥ 237.50 per pound

Th

pﬂ‘:' d(l;t:t'::;:r.zm;g separable costs of processing chocolate power liquor into chocolate
s _ : 23_12.50.‘ The October 2013 separable costs of processing milk-

chocolate liquor base into milk-chocolate are ¥ 6,23,437.50.

P;:kenl'mn fully processes both of its intermediate products into chocolate powder or milk-
t; t:ccn ate. There is an active market for these intermediate products. In October, 2013,
okemon could have sold the chocolate powder liquor base for ¥ 997.50 a gallon and the

milk-chocolate liquor base for X 1,235 a gallon.

Required :

(i) Calculate how the joint cost of ¥ 7,12,500 would be allocated between the chocolate
powder and milk-chocolate liquor bases under the following methods:
(a) Sales value at split off point
(b) Physical measure (gallons)
(c) Estimated net realisable value, (NRV) 21d
(d) Constant gross-margin percentage NRV.

(i) Whatis the profitability of the chocolate powder and milk-chocolate under each of the
methods in requirements (i)?

(iii) Could Pokemon have increased its operating income by a change in its decision to
fully process both of its intermediate products? Show your computations.

A company produces two joint product X and Y. from the same basic materials. The
processing IS completed in three departments.

Materials are mixed In department |. At the end of this process X and Y get separated.

After separation X is completed in the department |l and Y is finished in department Iil.
0.000 kgs of raw material were processed in department |, at a total

| iod 2,0
E;lsr;ngfa?psegg 000. and the resultant 60% becomes X and 30% becomes Y and 10%

normally lost In processing.

In department Il 1/6 of the g
further processed IN departm |
In department Il further new material added to the material received from department |

and weight mixture is doubled, there is no quantity loss in the department and further
processing cost (with material cost) is ¥ 1,50,000.

The details of sales du

uantity received from department | is lost in processing. X 13
ent Il at a cost of X 1,80,000.

i he year . -
fing the ¥ Product X Product Y

0,000 1,15,00C
Quantity sold (kgs) 9 0 .
Sales price per kg. )

h-—_ —
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There were no ope
X and Y would be ¥

ning stocks. If these products sold at split-off point, the selling price of
8 and T 4 per kg respectivelv.

(n;)qu:;ﬂa'ie 3 statement showing the apportionment of joint cost to X and Y in proporti on
it off point. o
of sales value at sp P product indicating joint cost

(i) Prepare a statement showing the cost per kg of each

. ™
rocessing cost and total cost separately |
: y product wise profit for the year.

i Prepare a statement showing the .
iy . d after further processing of product X and Y, give

iv) On the basis of profits before an
B your comment that products should be further processed or not.

uary, 2013, a company purchased salt for ¥ 10,00,000 ang

.33. During the month of Jan : R
o b fZ 15.00,000 upto the split-off point, at which time two saleaple

incurred conversion cost 0 _ _
products were produced, ie., caustic Soda and Chlorine. Chlorine can be further

processed into PVC. The company produced 1,200 tons of Caustic Suda'and 800 tons of
Chiorine. After further processing, 800 tons of Chlorine are converted into 500 tons of
PVC at cost of ¥ 5,00,000. The selling price per ton are ¥ 1,250, ¥ 1,875 and X 5,000 for

caustic soda, chlorine and PVC respectively.

Required:
(1) Allocate joint cost of ¥ 25,00,000 between Caustic Soda and Chlorine according to—

(a) Sales value at split-off point method.
(b) Physical measurement method.
(c) Net realisable value method.

(2) Do you think the conversion of Chlorine into PVC is profitable to the company.

Q.34. A Chemical Company carries on production operation in two processes. The materig|
first pass through Process 1, where Product ‘A’ is produced:

Material input quantity 2 00.000 kas
Opening work-in-progress quantity o >
(Material 100% and conversion 50°
Work completed quantity o 39,000 kg,
Closing work-in-progress quantity 1,60,000 kgs.
(Material 100% and con ' -thi
Material input cost e1sion two-third complete) | 30,000 kgs.
Processing cost < 75,000
Opening work-in-progress cost < 1.02,000
Material cost
Processing cost < 20,000
X 12,000

Normal process loss in quantity may be assumed to be

realizable valye. 20% of materia| input. It has no

Alternatively, it can be transferred to Proc

Product 'AX' rie
uct ‘AX ftI:rr X 2 per kg. Further material ar!la?dr;;ritr': EF:rprDCESSing s S nchd s

A’ of Process |

Ocess I, which yield two Kgs.
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Q.35.

: CAR. K. MEHTA
he mon '
onthly costs incurred in Process | (Other than the cost of Product ‘A’) are .
1.20,000 kgs. of 1,60,000 kgs. of Product ‘A
Product ‘A’ input input
< <
Matenial cost 1,.32,000 1,76,000
Processing costs 1,20,000 1,40,000
Required. |
1.

Determine, using the weighted average cost method, the cost per kg. of Product ‘A’ in

Process | and value of both work c ‘ '
_ ompleted and closing work-in-progress for the
month just ended. Also prepare Process | Account.

Is it worthwhile processing 1,20,000 kgs. of Product ‘A’ further?

3. Calculate the minimum desirable selling price per kg. if a potential buyer could be

found for additional output of Product ‘AX' that could be produced with the remaining
Product ‘A’ quantity.

fk Company produces two joint products P and Q in 70 : 30 ratio from basic raw materials
in department A. The input output ratio of department A is 100 : 85. Product P can be
sold at the split of stage or can be processed further at department B and sold as product

AR. The input output ratio is 100 : 90 of department B. The department B is created to
process product P only and to make it product AR.

The selling prices per kg. are as under .

Product P T 85

Product Q ¥ 290

Product AR T115
The production will be taken up in the next month.

Raw materials 8,00,000 kgs.

Purchase price X 80 per kg.

Department A Department B
T Lacs T Lacs

Direct Materials 35.00 5.00
Direct Labour iggg 1333
Variable Overheads ) 'DD azinn
Fixed Overheads :l_ﬁ%.u_ﬂ 32.00
Selling Expenses tzl_ﬁag;
Product P 21'50
Product Q 1 EZEU
Product AR
Required : _ . .
0) qPreparE 5 statement showing lhe apportionment of joint costs on the basis of Net

Sales.

(i) State whether it 1S advisable 10 produce product AR or not.
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Q.1.

Ans,

IMPORTANT THEORETICAL QUESTIONS
———————TIEURETICAL QUESTIONS

Write short notes on the following :
1)  Process costing

1) Equivalent Production

i) Inter-Process Profits

Iv) Joint Products

v) By product,

1. Process Costing: Process Costing is a costing technique adopted by those industrieg
which satisfies the following conditions -

a) The production js continuous and the end result is the sequence of processes.
b) The product is homogeneous.

2. Equivalent Froduction : In pProcess industries, producti
and at the end of accounting period '
or incomplete. Such Incomplete Production is known as w
In-progress is valued In terms of equivalent productio
Calculated in terms of equivalent units with the help of foll

Equivalent Units = (Units of wip)
Suppose, closing work in progress is 200 units, which is 75% cComplete in respect of material,
labour and Overheads, it is equivalent to 200 units X 7

3% =150 Completed units.
Inter-Process Profit : Snmetimes,

the output from One process is transferred to another
Process not at cost but at an inflated amount. This transfer price can either be the current

ork-in-progress. Such WOrk-

n. Equivalent production is
owing formula -

: Products are termed as joint
Products, For eXample, in case of gj| refinery following in: -
) Kerosene y 9 Joint prodycts €merge :
I) Gasoline

1) Fuel, Qj), etc.

Joint products has the I’ulluwing features -
a) They are produc

b) They are of alm

ed from Same raw Materia|.
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Q.2.

Ans.:

Q.3.

Ans..

Q.4.

Ans.:

Q.5.
Ans.:

5.17 CAR. K MEHTA |

I:iisti:lngtjisz t::etween Job Costing and Process Costing

. 0 ' ion i - ' |

hnmngeniit:g' production is against specific orders, whereas in Process Costing,
goods are produced in sequential activities.

In Job '
PFDCESSC[?;;E-\QI cost are collected and accumulated for each job separately. In
g, costs are collected and accumulated process-wise.

In Job Costing, cost com o .
D putation is done after completion of job. In Process Costing,
cost computation is done at the end of each perim:l.p |

?DJmD;) Euns’:ing, there are usually no transfers from one job to another unless there is
another rplus work. In Process Costing, the product moves from one process 1o

4.

How will you deal with by-products in costing :
1. Where they are of small total value.

2. Where they are of consideration total value.
3. Where they require further processing.

a) Where By-Products are of Small Sales Value : In such case, the net income

realised by the sale of by-product is to be credited to the process account in which the
by-product has arisen.

b) Where they are of Considerable Total Value : In such case, the joint cost of by-
product should be apportioned and transferred from main product account to the by-
product AJc. Any further cost is also debited to by-product Alc. The By-product A/c is

credited with the sales value and the balance of account represents profit or loss of by-
product which is to be transferred to costing profit and loss Alc.

c) Where they require further Processing : In such case, the net realisable value of by-
products is calculated with the help of Reverse cost method. If this amount is small or
negligible, it may be treated as per the method (a) discussed above. On the contrary, if
this amount is of considerable amount, it is treated as per method (b) discussed above.

Define normal loss, abnormal loss and abnormal gain ? Explain their accounting treatment.

Normal Loss : Such loss is unavoidable and estimated in advance on the basis of past
experience and technical specifications. If such loss fetches no value, it is recorded at nil
amount at the credit side of process account. If such loss fetches some value, the value is
credited to the process account.

Abnormal Loss : Any loss caused by unexpected or abnormal conditions is considered as
abnormal loss. 1t is credited to the process account at the amount calculated as follows :

(Units of Abnormal LOSS (Cost per Unit)

Normal Cost of Normal Output

Normal Output

Gain : If actual process loss is than the estimated normal loss, the difference is the
:t?:;rn:l;?gain it is debited to process account at the amount calculated as follows :

(Units of Abnormal Gain) (Cost per unit)

Where Cost per Unit =

ingui een Joint Products and By-products. |
?Lﬂ:lg?;ﬁhngezﬁnite criterion for distinguishing between joint products and by-products.
Generally, the difference between joint product s based on their relative cummerclal value.
The 'uint'pruducts are almost of same value and importance. However, if there is wide
diﬁerjence petween the commercial values of product combindly product, the product with
relatively less commercial value is by-product and the product with higher commercial value Is

-producl.
termed as mainp tors which make a distinction between joint products and by-

bjective of manufacture. policy of management, profitability of products,

n joint products and by-products is not academic, it Is all based

The distinction wp— ces and other relevant factors.

on practical circumstan
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Q.6. Distinguish between joint products and co-products.

ioi ‘ s. However, there 3
Ans.: Often joint products and co-products are considered as Synonymou re
some :‘ruints of difference between the two terms. In case of co-products two or more Products
are produced at same time, but with different inputs. But, for joint products, the same inpy

and processing is used.

One important point is that the change in production of one .r:n-pruduct_n:lay not necessarily
lead to a change in production of other product. However, in case of joint products, if any
change has occurred in joint process or input, the output 1 bound to have some adverse or

favourable effect.

Q.7. Where the objectives of accounting for joint products and by-products ?
Ans.: 1. Cost control is made feasible.

2. Reliable product cost information is collected.

3. Determination of profitability of each product.

4. Helps in setting selling prices of products.

5. Helps in valuation of stock and work-in-progress.

Q.8. What are the limitations of distributing total joint cost among various joint products ?
Ans.: Analysis of joint cost over joint products suffers from the following limitations:

1) Apportionment of joint cost over various products is mainly arbitrary and the true costs of

various individual products cannot be known.

2) Approtionment of joint cost is based on certain assumptions which may be unrealistic or

even misleading.

3) Arbitrayy apporttonment of joint costs makes inter-firm comparison difficult.
4) There is no clear cut distinction between joint products and by-products.

REVISIONARY PROBLEMS

Q.. A product is finally obtained after it passes through three disti
ine } . stinct proc _
following information is available from the cost recnrds.g Procacess. The

Process | Process Il Process lj] Total

| (9 ()
Materials 2,600 2,000 1 E}?EE 5 2325
Direct Wages 2,250 3,680 1400 7,330
Production overheads -- - — ?‘330
500 units @ T 4 per unit were introduced in )
absorbed as a percentage of direct wages. FINSES, Proiziin svahoade i
The actual output and normal loss of the respective process are given below:
Out[:ut Normal loss as a Value of scrap |
- (units Percentage of input (per unit
rocess | 450 10% "
Process |l 340 20% et
Process |lI 270 25% ;4
Prepare the process accounts and the abnormal gain/loss accnjnts

[(Ans.: Cost per unit: Process | ¥ 20; Process Il ¥50; Process ill #80j

T

Bl i e

e
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Q.2.

Q.4.

A product manufact
Il and Ill. The follow

Material consumed
Direct wages

Direct expenses
TOTAL

Output

Finished process stock:

(i) 01:09:2012

(i) 30:09:2012

Stock valuation on
01:09:2012 (X per unit)
Percentage of wastage
Net realisable value of

pred by
INg cost

S

Wastage per unit (%)

9.19

CAR. K. MEHTA

h

Process |

(9
40,000

22 500

20,500

83,000
Units
3,900

600
500

24.50
2

13.50

(9
7,500

10,000
2,250

19,750
Units
3,850

950
800

31.00
5

16.25

(%)
5,000

10,000
2,505

17,505
Units
3,200

800
Nil

37.00
10

21.00

the Slandarq Chemicals Ltd. passes through three process |,
ave been incurred for the month of September 2012:

Process |f Process il

Four thousand units of raw materials were introduced in process No. | at a cost of rupees

twenty thousand.

Stocks are valued and transferred to subsequent process at weighted average cost. The
percentage of wastage is computed on the number of units entering the process

concerned.

Prepare (l) Process Alcs; (ii) Process Stock A/cs; (iii) Normal wastage A/cs; (iv) Abnormal

wastage/effective Alcs.

[Ans.: Cost per unit— Process | T 26; Process Il ¥31.50; Process Jll ¥ 38.

Weighted average cost per unit — Process | € 25.80; Process il ¥ 31.4375; Process Il

Z37.80]

the end of Process A during the week ending July 31% 2012, the number of units

Q.3. . , .
produced was 850 excluding 50 abnormally damaged units. The damaged units realised
’ Z 3 per unit as scrap. A normal wastage of 10 per cent occurs during the process. The

wastage realised ¥ 2 per unit.

A unit of raw material costs Z 4. The other expenses for the week were .

Wages Z 500; Power X 200 and General expenses Y 450.

40% of the output is sold as to show a profit

output is tran
Normal Loss Account a

[Ans.: Cost per unit =

Karnataka Produclts Ltd. ma

3

nd Abnormal LOSS Account.
#5.50; Selling price per unit = v6.60].

three process are as follows :

Transfer to next process
Transfer to warehouse

In each process out Of

scrapped. The scrap is sold at

the (o

respectively. For the month O

Process | Process li
66 2/3% 60%
33 1/3% 40%
tal weight put in,
26 ¥T10and?

f Oclober,

of 16 E% on the selling price, the rest of the

sferred to Process B. transferred to Process B. Prepare Process A Account,

nufactures a chemical in three process. The details of these

Process [l

100%

4% is normally wasted and 6% is normally

12 per ton in |, Il and lll processes
2013, the details of expenditure are :
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COST ACCOUNTING 520
Process | 2. 800 tons of materials at 3 40 per ton.
Process I 320 tons of materials at T 64 per ton.
Process Il 2 520 tons of materials at T 28 per ton.

Production labour cost is : Process | ¥ 20,608, Prnces§ I.l < 1?,560; Process Il T 11,580
For the month of October 2013, the office and administration expenses worked out g
Z 15.567 which is to be charged equally for all the pmcesse;.

Prepare Process Cost Accounts. Calculate the cost per ton In each process.

[Ans.: Cost per ton = #54.28 (Process I), £71.23 (Process ll) and ¥49.9 (Process Jjj)

ough three processes A, B and C, The

' duct of a factory has to pass thr
Q.5. The finished produ y T Tre petoerie

normal wastage of each process is 2% in A, 5'}6 in B and 10%
waste is computed on the number of units entering each process.

The scrap values of wastage of processes A, B and C are 3 10, T 40 and T 20 per 100

units respectively.

The output of each process is transferred to the next process and the finished products
are transferred from Process C into stock. The following further information is obtained :

Process A Process B Process C

Materials consumed < 12,000 < 4,000 < 4,000
Direct Labour 8,000 6,000 6,000
Manufacturing Expenses 2,000 4,000 2,000

20,000 units were put into Process A at a cost of ¥ 16,000. The output of each process
has been : A 19,600 units; B : 18,400 units and C : 16,700 units.

There was no stock of work-in progress in any process.

Prepare the relevant accounts.
[Ans.: Process A

Amount transferred to Process B = < 37,960
Process B

Amount transferred to Process C = 50,959

Amount of Abnormal Loss = ¥ 609
Process C

Amount transferred to F. Goods = 63,120

Amount of abnormal gain = I 529

Q.6. The finished product of a manufacturing company passes through three processes, viz.
[, Iland lll. The nqrmal wastage in eqch process is 5%, 7% and 10% for the pmces'ses I'
Il and lll respectively (calculated with reference to the number of units fed into each
E;‘;‘::Fgﬁﬁﬁaﬂgsmﬂzgzﬁtid nut‘;::f viﬁstage has a sale value of 70 paise per unit, 80

\ €r unit in the processes |, Il and Il r ' '
t::I:.:’F_-.at:*h process is transferred to the next process and the ﬁnisheisgﬁfggf leyrhlp Ee: l#ﬂ:ﬁ
e Process |Il and transferred to stock. There was no stock of WDI‘k-in-pmgresgs in any

: Processes
Materials used (%) 1,20,0 . il
; 20,00
Direct Labour Cost (%) 30'003 ggggg gU.UDU
Prnducpnn Expenses (%) 40000 40. 0,000
Output in Units (actuals) BB:DUU 34.233 gg ggg

Process | was fed with 40 000 units of raw

[Ans.: Cost per unit:
Process A ¥14.70; Process B 19,7073 and Process C ¥25.8969).

input at cost of 2 3.20,000
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Q.7.

Q.8.

Q.9.

CA R. K. MEHTA

During January, 1 gg - .

wurk-in—pmgrgﬁs at tﬁeuggsiﬁ“t'”g ¥ 6,000 were introduced in process 1. There was no
process Il; 250 units wer él irlmng. At the end of January, 600 units were transferred to
process loss was 10% of i Complete and 150 units had been scrapped, the normal
following stages: NPUL. It was estimated that incomplete units had reached the

Materia|

Labour o
Overhead gg:;u
D!rect materials introduced 2 ?UE
Direct wages L4 3:200
Production overhead 31,600

Value of scrap | i

257 map lls < 2 each. The units Scrapped have passed through the processes and
o Complete as regard material, labour and overhead.

You are required to prepare:;

(a) Statement of equivalent production,

(b) Statement of cost for each element. [Ans.: ¥10, ¥4 and ¥ 2]
(c) Statement of apportionment of process cost.

(d) Process | account [Ans.: Process Ak total *1 3,500] -
(e) Abnormal loss account.

Apex Company has a single process.

Work-in-process (opening) 8,000 units

Cost. Material < 29,600
Wages T 6,600
Overhead < 5,800

During the period the input was 32,000 units.
Additional costs were: material ¥ 1,12,400; wages ¥ 33,400, overhead T 30,200.

‘At the end of the year 28,000 units were fully processed and 12,000 units were in

process. The value of the closing stock includes the full cost of materials and only one-
third of the cost of wages and overheads. Tabulate the production and cost figures to
give quantities, unit values, total value of completed output and detailed values for the
closing work-in-process.

[Ans.: Cost per unit — Material ¥ 3.55; Wages ¥1.25 and overheads ¢1.125].

JB Limited produces four joint products A, B, C and D, all of which emerge from the
processing of one raw material. The following are the relevant data:

Production for the pernod:

. Number of units Selling price per unit
Joint iruduct £00 18.00
3 900 8.00
C 400 4.00
D 200 11.00
; E ales value. The other estimated costs are:
The Company budgets for 3 profit cf 10% of s -
1,000
Carriage 3.000
Direct wages 2.000
Manufacturing overhead 10% of sales value

Administration overhead

You are required t0: |

(a) Calculate the maximum price stths

(b) Prepare a comprehensive co
and other costs based upon. e
() number of units (il salesi.' ‘;a .

[Ans.: Amount of purchases = ¥ 7%

at may be paid for the raw material.
tatement for each of the products allocating the materials




